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1.2.3 Bridge 1 5

@ () 0.000
0 m 0.000
®) () 0.000
@ 200.000
@ 5
®) (kN/m?) 2.00E+008
) (kN/m?) 7.70E+007
(m
LL 0.000 | -—==—=—=---
S1 40.000 1
S2 40.000 1
S3 40.000 1
S4 40.000 1
S5 40.000 1
LR 0.000 | -—==—=—=---
HL (m) | H2 (m) (kN) (kN)
1 0.500 2.500 1540.000 2450.000
2 0.500 | -------- 3080.000 | ~-—-—=—===—=—=
3 0.500 2.500 3080.000 6970.000
4 0.500 | -------- 3080.000 | —-—-———=—=———=
5 0.500 2.500 3080.000 6970.000
6 0.500 | -====--- 3080.000 | -—--======—=—-
7 0.500 2.500 3080.000 6970.000
8 0.500 | -—------- 3080.000 | ~-—-=—===—=—=—=
9 0.500 2.500 3080.000 6970.000
10 0.500 | -------- 3080.000 | —-=-—===—=—=—=
11 0.500 2.500 1540.000 2450.000
( 1)
(m 1z(m") ly(m) m) ()
1 20.000 10.00000 7.20700 0.00700 0.59100
2 20.000 10.00000 7.20700 0.00700 0.59100
3 20.000 10.00000 7.20700 0.00700 0.59100
4 20.000 10.00000 7.20700 0.00700 0.59100
5 20.000 10.00000 7.20700 0.00700 0.59100
6 20.000 10.00000 7.20700 0.00700 0.59100
7 20.000 10.00000 7.20700 0.00700 0.59100
8 20.000 10.00000 7.20700 0.00700 0.59100
9 20.000 10.00000 7.20700 0.00700 0.59100
10 20.000 10.00000 7.20700 0.00700 0.59100
( 2)
(m 1z(m") ly(m) m) m)
1 20.000 10.00000 7.20700 0.00700 0.59100
2 20.000 10.00000 7.20700 0.00700 0.59100
3 20.000 10.00000 7.20700 0.00700 0.59100
4 20.000 10.00000 7.20700 0.00700 0.59100
5 20.000 10.00000 7.20700 0.00700 0.59100
6 20.000 10.00000 7.20700 0.00700 0.59100
7 20.000 10.00000 7.20700 0.00700 0.59100
8 20.000 10.00000 7.20700 0.00700 0.59100
9 20.000 10.00000 7.20700 0.00700 0.59100
10 20.000 10.00000 7.20700 0.00700 0.59100

FORUMS8




(m) (m)
W1 6.000 6.000
W2 6.000 6.000
W3 6.000 6.000
w4 6.000 6.000
1 )
(kN/m) (kN/m) (kN/m) (kN.m/rad) (kN.m/rad) (kN.m/rad)
1
8.360000E+3
2
2_.408000E+4 | 2.408000E+4
3
2.408000E+4 | 2.408000E+4
4
2.408000E+4 | 2.408000E+4
2.408000E+4 | 2.408000E+4
6
8.360000E+3
2 ( D)
(kN/m) (kN/m) (kN/m) (kN.m/rad) (kN.m/rad) (kN.m/rad)
1
8.360000E+3
2
2.408000E+4 | 2.408000E+4
2.408000E+4 | 2.408000E+4
4
2.408000E+4 | 2.408000E+4
5
2.408000E+4 | 2.408000E+4
6
8.360000E+3
2 ( 1))
(kN/m) (kN/m) (kN/m) (kN.m/rad) (kN.m/rad) (kN.m/rad)
1
8.360000E+3
2
2.408000E+4 | 2.408000E+4
3
2.408000E+4 | 2.408000E+4
4
2.408000E+4 | 2.408000E+4
5
2.408000E+4 | 2.408000E+4
6
8.360000E+3
(ho)
(m)
1 0.000
2 0.000
3 0.000
4 0.000
5 0.000
6 0.000

FORUMS8




1.2.4 Bridge 1 Al1(1
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(kN)
2 3425.100
4 4998.000
m) m) (kN/m?) (kN/m?)
1- 2 2.5500 24.00000 2.35E+007 1.02E+007
2- 3 2.5500 24.00000 2.35E+007 1.02E+007
3- 4 1.0000 100.00000 2.35E+007 1.02E+007
4 -5 1.0000 100.00000 2_35E+007 1.02E+007
1 1 1 2 2 2
J J
Iz () ly (n) () 1z (") ly () ()
1- 2 8.00000 288.00000 28.64022 8.00000 288.00000 28.64022
2- 3 8.00000 288.00000 28.64022 8.00000 288.00000 28.64022
3- 4 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000
4 -5 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000
Kx(Ass) 3.593000E+006 kN/m | Kx(Arr) 9.693000E+007 | kN.m/rad
Ky (Awv) 6.141600E+006 kN/m | Ky kN.m/rad
Kz(Arr) 6.599625E+007 | kN.m/rad | Kz(Ass) 3.593000E+006 kN/m
Kxy (Asv) 0.000000E+000 kN/m | Kxy 0.000000E+000 | kN.m/rad
Kxz(Asr) -5.657000E+006 kN/rad | Kxz(Ars) -5.657000E+006 kN.m/m
Kyz(Avr) 7.677000E+006 kN/rad | Kyz 0.000000E+000 kN.m/m
(m) = -1.250
Kx(Ass) kN/m | Kx(Arr) kN.m/rad
Ky (Aw) kN/m | Ky kN.m/rad
Kz(Arr) kN.m/rad | Kz(Ass) kN/m
Kxy (Asv) 0.000000E+000 kN/m | Kxy 0.000000E+000 | kN.m/rad
Kxz(Asr) 0.000000E+000 kN/rad | Kxz(Ars) 0.000000E+000 kN.m/m
Kyz(Avr) 0.000000E+000 kN/rad | Kyz 0.000000E+000 kN.m/m
(m) = -1.250

FORUMS8




1.2.5 Bridge 1 P1(2

€Y)
@
®
Q)

)

(m

X (m)
h (m)

A&B

0.000
3.000
0.000

FORUMS8



(v a) 2.292 5.236
(v a) 1.744 3.613
(kN)
2 1371.755
4 2021.250
6 3894.275
m m) (kN/m?) (kN/m?)
1- 2 1.1040 100.00000 2.35E+007 1.02E+007
2- 3 1.3960 100.00000 2.35E+007 1.02E+007
3- 4 3.7500 11.00000 2.35E+007 1.02E+007
4 - 5 3.7500 11.00000 2.35E+007 1.02E+007
5- 6 1.1000 100.00000 2.35E+007 1.02E+007
6 - 7 1.1000 100.00000 2_35E+007 1.02E+007
1 1 2 2 2
. J J
1z (n) ly (m) (") 1z () ly () (m")
1- 2 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000
2- 3 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000
3- 4 4._43667 22.91667 12.84266 1.91716 8.00165 12.84266
4 - 5 4_43667 22.91667 12.84266 1.91716 8.00165 12.84266
5- 6 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000
6- 7 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000
Kx(Ass) 2.763213E+006 kN/m | Kx(Arr) 3.916345E+007 | kN.m/rad
Ky(Awv) 4.012011E+006 kN/m | Ky kN.m/rad
Kz(Arr) 3.916345E+007 | kN.m/rad | Kz(Ass) 2.763213E+006 kN/m
Kxy (Asv) 0.000000E+000 kN/m | Kxy 0.000000E+000 | kN.m/rad
Kxz(Asr) -4 _445867E+006 kN/rad | Kxz(Ars) -4 _445867E+006 kN.m/m
Kyz(Avr) 0.000000E+000 kN/rad | Kyz 0.000000E+000 kN.m/m
(m) = 0.000
Kx(Ass) 7.256840E+005 kN/m | Kx(Arr) 3.441353E+007 | kN.m/rad
Ky (Awv) 4.012011E+006 kN/m | Ky kN.m/rad
Kz(Arr) 3.441353E+007 | kN.m/rad | Kz(Ass) 7.256840E+005 kN/m
Kxy (Asv) 0.000000E+000 kN/m | Kxy 0.000000E+000 | kN.m/rad
Kxz(Asr) 1.941201E+006 kN/rad | Kxz(Ars) -1.941201E+006 kN.m/m
Kyz(Avr) 0.000000E+000 kN/rad | Kyz 0.000000E+000 kN.m/m
(m) = 0.000

FORUMS8
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1.2.6 Bridge 1 P2(3

€Y)
@
®
Q)

)

(m

X (m)
h (m)

A&B

0.000
3.000
0.000

FORUMS8
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1
1 1
(v a) 2.292 5.236
(v a) 1.744 3.613
(kN)
2 1371.755
4 2021.250
6 3894.275
m m) (kN/m?) (kN/m?)
1- 2 1.1040 100.00000 2.35E+007 1.02E+007
2- 3 1.3960 100.00000 2.35E+007 1.02E+007
3- 4 3.7500 11.00000 2.35E+007 1.02E+007
4 - 5 3.7500 11.00000 2.35E+007 1.02E+007
5- 6 1.1000 100.00000 2.35E+007 1.02E+007
6 - 7 1.1000 100.00000 2_35E+007 1.02E+007
1 1 1 2 2 2
. J J
1z () ly (n) () 1z (") ly (m) ()
1- 2 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000
2- 3 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000
3- 4 4._43667 22.91667 12.84266 1.91716 8.00165 12.84266
4 - 5 4_43667 22.91667 12.84266 1.91716 8.00165 12.84266
5- 6 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000
6- 7 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000
Kx(Ass) 2.763213E+006 kN/m | Kx(Arr) 3.916345E+007 | kN.m/rad
Ky(Awv) 4.012011E+006 kN/m | Ky kN.m/rad
Kz(Arr) 3.916345E+007 | kN.m/rad | Kz(Ass) 2.763213E+006 kN/m
Kxy (Asv) 0.000000E+000 kN/m | Kxy 0.000000E+000 | kN.m/rad
Kxz(Asr) -4 _445867E+006 kN/rad | Kxz(Ars) -4 _445867E+006 kN.m/m
Kyz(Avr) 0.000000E+000 kN/rad | Kyz 0.000000E+000 kN.m/m
(m) = 0.000
Kx(Ass) 7.256840E+005 kN/m | Kx(Arr) 3.441353E+007 | kN.m/rad
Ky (Awv) 4.012011E+006 kN/m | Ky kN.m/rad
Kz(Arr) 3.441353E+007 | kN.m/rad | Kz(Ass) 7.256840E+005 kN/m
Kxy (Asv) 0.000000E+000 kN/m | Kxy 0.000000E+000 | kN.m/rad
Kxz(Asr) -1.941201E+006 kN/rad | Kxz(Ars) -1.941201E+006 kN.m/m
Kyz(Avr) 0.000000E+000 kN/rad | Kyz 0.000000E+000 kN.m/m
(m) = 0.000

FORUMS8
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1.2.7 Bridge 1 P3(4
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1
1 1
(v a) 2.292 5.236
(v a) 1.744 3.613
(kN)
2 1371.755
4 2021.250
6 3894.275
m m) (kN/m?) (kN/m?)
1- 2 1.1040 100.00000 2.35E+007 1.02E+007
2- 3 1.3960 100.00000 2.35E+007 1.02E+007
3- 4 3.7500 11.00000 2.35E+007 1.02E+007
4 - 5 3.7500 11.00000 2.35E+007 1.02E+007
5- 6 1.1000 100.00000 2.35E+007 1.02E+007
6 - 7 1.1000 100.00000 2_35E+007 1.02E+007
1 1 1 2 2 2
. J J
1z () ly (n) () 1z (") ly (m) ()
1- 2 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000
2- 3 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000
3- 4 4._43667 22.91667 12.84266 1.91716 8.00165 12.84266
4 - 5 4_43667 22.91667 12.84266 1.91716 8.00165 12.84266
5- 6 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000
6- 7 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000
Kx(Ass) 2.763213E+006 kN/m | Kx(Arr) 3.916345E+007 | kN.m/rad
Ky(Awv) 4.012011E+006 kN/m | Ky kN.m/rad
Kz(Arr) 3.916345E+007 | kN.m/rad | Kz(Ass) 2.763213E+006 kN/m
Kxy (Asv) 0.000000E+000 kN/m | Kxy 0.000000E+000 | kN.m/rad
Kxz(Asr) -4 _445867E+006 kN/rad | Kxz(Ars) -4 _445867E+006 kN.m/m
Kyz(Avr) 0.000000E+000 kN/rad | Kyz 0.000000E+000 kN.m/m
(m) = 0.000
Kx(Ass) 7.256840E+005 kN/m | Kx(Arr) 3.441353E+007 | kN.m/rad
Ky (Awv) 4.012011E+006 kN/m | Ky kN.m/rad
Kz(Arr) 3.441353E+007 | kN.m/rad | Kz(Ass) 7.256840E+005 kN/m
Kxy (Asv) 0.000000E+000 kN/m | Kxy 0.000000E+000 | kN.m/rad
Kxz(Asr) -1.941201E+006 kN/rad | Kxz(Ars) -1.941201E+006 kN.m/m
Kyz(Avr) 0.000000E+000 kN/rad | Kyz 0.000000E+000 kN.m/m
(m) = 0.000

FORUMS8
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) H 7.500
B. 2.200
Br 5.000
H 2.200
B. 8.500
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Xe 4.250
Z. 4.250
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1.2.8 Bridge 1 P4(5
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1
1 1
(v a) 2.292 5.236
(v a) 1.744 3.613
(kN)
2 1371.755
4 2021.250
6 3894.275
m m) (kN/m?) (kN/m?)
1- 2 1.1040 100.00000 2.35E+007 1.02E+007
2- 3 1.3960 100.00000 2.35E+007 1.02E+007
3- 4 3.7500 11.00000 2.35E+007 1.02E+007
4 - 5 3.7500 11.00000 2.35E+007 1.02E+007
5- 6 1.1000 100.00000 2.35E+007 1.02E+007
6 - 7 1.1000 100.00000 2_35E+007 1.02E+007
1 1 1 2 2 2
. J J
1z () ly (n) () 1z (") ly (m) ()
1- 2 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000
2- 3 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000
3- 4 4._43667 22.91667 12.84266 1.91716 8.00165 12.84266
4 - 5 4_43667 22.91667 12.84266 1.91716 8.00165 12.84266
5- 6 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000
6- 7 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000
Kx(Ass) 2.763213E+006 kN/m | Kx(Arr) 3.916345E+007 | kN.m/rad
Ky(Awv) 4.012011E+006 kN/m | Ky kN.m/rad
Kz(Arr) 3.916345E+007 | kN.m/rad | Kz(Ass) 2.763213E+006 kN/m
Kxy (Asv) 0.000000E+000 kN/m | Kxy 0.000000E+000 | kN.m/rad
Kxz(Asr) -4 _445867E+006 kN/rad | Kxz(Ars) -4 _445867E+006 kN.m/m
Kyz(Avr) 0.000000E+000 kN/rad | Kyz 0.000000E+000 kN.m/m
(m) = 0.000
Kx(Ass) 7.256840E+005 kN/m | Kx(Arr) 3.441353E+007 | kN.m/rad
Ky (Awv) 4.012011E+006 kN/m | Ky kN.m/rad
Kz(Arr) 3.441353E+007 | kN.m/rad | Kz(Ass) 7.256840E+005 kN/m
Kxy (Asv) 0.000000E+000 kN/m | Kxy 0.000000E+000 | kN.m/rad
Kxz(Asr) -1.941201E+006 kN/rad | Kxz(Ars) -1.941201E+006 kN.m/m
Kyz(Avr) 0.000000E+000 kN/rad | Kyz 0.000000E+000 kN.m/m
(m) = 0.000

FORUMS8
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« ) Hew 1.300
¢ ) Hess 1.300
¢ ) Ben 3.500
( ) Birie 3.500
) H 7.500
B. 2.200
Br 5.000
H 2.200
B. 8.500
B: 8.500
Xe 4.250
Z. 4.250
) he 2.700
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1.2.9 Bridge 1 A2(6
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1
(kN)
2 3425.100
4 4998.000
m) m) (kN/m?) (kN/m?)
1- 2 2.5500 24.00000 2.35E+007 1.02E+007
2- 3 2.5500 24.00000 2.35E+007 1.02E+007
3- 4 1.0000 100.00000 2.35E+007 1.02E+007
4 -5 1.0000 100.00000 2_35E+007 1.02E+007
1 1 1 2 2 2
J J
Iz () ly (n) () 1z (") ly () ()
1- 2 8.00000 288.00000 28.64022 8.00000 288.00000 28.64022
2- 3 8.00000 288.00000 28.64022 8.00000 288.00000 28.64022
3- 4 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000
4 -5 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000
Kx(Ass) 3.593000E+006 kN/m | Kx(Arr) 9.693000E+007 | kN.m/rad
Ky (Awv) 6.141600E+006 kN/m | Ky kN.m/rad
Kz(Arr) 6.599625E+007 | kN.m/rad | Kz(Ass) 3.593000E+006 kN/m
Kxy (Asv) 0.000000E+000 kN/m | Kxy 0.000000E+000 | kN.m/rad
Kxz(Asr) -5.657000E+006 kN/rad | Kxz(Ars) -5.657000E+006 kN.m/m
Kyz(Avr) 7.677000E+006 kN/rad | Kyz 0.000000E+000 kN.m/m
(m) = -1.250
Kx(Ass) kN/m | Kx(Arr) kN.m/rad
Ky (Aw) kN/m | Ky kN.m/rad
Kz(Arr) kN.m/rad | Kz(Ass) kN/m
Kxy (Asv) 0.000000E+000 kN/m | Kxy 0.000000E+000 | kN.m/rad
Kxz(Asr) 0.000000E+000 kN/rad | Kxz(Ars) 0.000000E+000 kN.m/m
Kyz(Avr) 0.000000E+000 kN/rad | Kyz 0.000000E+000 kN.m/m
(m) = -1.250

FORUMS8
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1.2.10

m) 100.00000 100.00000 100.00000
2 (m%) 100.00000 100.00000 100.00000
2 (") 100.00000 100.00000 100.00000
(") 100.00000 100.00000 100.00000

FORUMS8
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1.3
1.3.1
39, 41, 42 4, 45 47, 48 50, 51 53, 54,
1] 40 6] 43 13 | 46 20 ] 49 27 | 52 34 55
7 14 21 28
2 8 15 22 29 35
3 3R
g [ ] 16 ] 23 ] 30 ] gg
10 17 24 31
11 8 25 32
12i 19i 26£ 33i
[ bk RSPl SRR = 1:3.55 ]
o o Wi (kN)
5 | 39 0.000 ~0.500 | 1540.000
(Bridge 1) 41 20.000 ~0.500 | 3080.000
42| 40.000 ~0.500 | 3080000
44| 60.000 -0.500 | 3080.000
45| 80.000 ~0.500 | 3080.000
47| 100.000 ~0.500 | 3080.000
48 | 120.000 ~0.500 | 3080.000
50 | 140.000 -0.500 | 3080000
51| 160.000 ~0.500 | 3080000
53 | 180.000 ~0.500 | 3080.000
54| 200.000 -0.500 | 1540.000
40 0.000 ~3.000 0.000
43| 40.000 ~3.000 0.000
46| 80.000 ~3.000 0-000
49| 120.000 ~3.000 0.000
52 | 160.000 ~3.000 0.000
55| 200.000 ~3.000 0.000
AL 1 0.000 ~3.000 0.000
2 0.000 -5.550 | 3425.100
3 0.000 -8.100 0.000
4 0.000 -9.100 | 4998.000
5 0.000 |  -10.100 0.000
P1 6|  40.000 ~3.000 0.000
7| 40.000 ~4.104 | 1371.755
8|  40.000 ~5.500 0.000
9|  40.000 -9.250 | 2021.250
10 | 40.000 |  -13.000 0.000
11|  40.000 | -14.100 | 3894.275
12| 40000 | -15.200 0-000
P2 13| 80.000 ~3.000 0.000
14| 80.000 -4.104 | 1371.755
15| 80.000 ~5.500 0.000
16 | 80.000 -9.250 | 2021.250
17| 80.000 |  -13.000 0-000
18|  80.000 | -14.100 | 3894.275
19|  80.000 | -15.200 0.000
P3 20 | 120.000 ~3.000 0.000
21|  120.000 -4.104 | 1371.755
22| 120.000 ~5.500 0.000
23| 120.000 -9.250 | 2021.250
24|  120.000 |  -13.000 0.000
25| 120.000 | -14.100 | 3894.275
26| 120.000 |  -15.200 0.000
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® ® Wi (kN)
P4 27| 160.000 ~3.000 0.000
28 | 160.000 40104 | 1371.755
20| 160.000 ~5.500 0.000
30|  160.000 90250 | 2021.250
31| 160.000 |  -13.000 0.000
32|  160.000 | -14.100 | 3894.275
33| 160.000 | -15.200 0.000
A2 34| 200.000 ~3.000 0.000
35 | 200.000 _5.550 | 3425.100
36 | 200.000 -8.100 0.000
37| 200.000 90100 |  4998.000
38| 200.000 | -10.100 0.000
1 2
KN/ KN/ (™) Iz () Iz ()
5 I 39- 41 | 2.000E+008 | 7.700E+007 0.5910 |  10.0000 |  10.0000
(Bridge 1) 41- 42 0.5910 |  10.0000 |  10.0000
42- 44 0.5910 |  10.0000 |  10.0000
44- 45 0.5910 |  10.0000 |  10.0000
45- 47 0.5910 |  10.0000 |  10.0000
47- 48 0.5910 |  10.0000 |  10.0000
48- 50 0.5910 |  10.0000 |  10.0000
50- 51 0.5910 |  10.0000 |  10.0000
51- 53 0.5910 |  10.0000 |  10.0000
53- 54 0.5910 |  10.0000 |  10.0000
40- 39 | 2.000E+008 | 7.700E+007 | 100.0000 | 100.0000 | 100.0000
43- 42
46- 45
49- 48
52- 51
55- 54
AL 1- 2| 2.350E+007 | 1.022E+007 |  24.0000 8.0000 8.0000
2- 3| 2.350E+007 | 1.022E+007 |  24.0000 8.0000 8.0000
3. 4| 2.350E+007 | 1.022E+007 | 100.0000 | 100.0000 | 1000000
4- 5| 2.350E+007 | 1.022E+007 | 100.0000 | 100.0000 | 1000000
P1 6- 7 |2.350E+007 | 1.022E4007 | 100.0000 | 100.0000 |  100.0000
7- 8 | 2.350E+007 | 1.022E+007 | 100.0000 | 100.0000 | 100.0000
8- 9 | 2.350E+007 | 1.022E+007 |  11.0000 4.4367 1.9172
9- 10 | 2.350E+007 | 1.022E+007 |  11.0000 4.4367 1.9172
10- 11 | 2.350E+007 | 1.022E+007 | 100.0000 | 100.0000 | 1000000
11- 12 | 2.350E+007 | 1.022E+007 | 100.0000 | 100.0000 | 1000000
P2 13- 14 | 2.350E+007 | 1.022E+007 | 100.0000 | 100.0000 | 100.0000
14- 15 | 2.350E+007 | 1.022E+007 | 100.0000 | 100.0000 | 100-0000
15- 16 | 2.350E+007 | 1.022E+007 |  11.0000 4.4367 1.9172
16- 17 | 2.350E+007 | 1.022E+007 |  11.0000 4.4367 1.0172
17- 18 | 2.350E+007 | 1.022E+007 | 100.0000 | 100.0000 | 100.0000
18- 19 | 2.350E+007 | 1.022E+007 | 100.0000 | 100.0000 | 1000000
P3 20- 21 | 2.350E+007 | 1.022E+007 | 100.0000 | 100.0000 | 100.0000
21- 22 | 2.350E+007 | 1.022E+007 | 100.0000 | 100.0000 | 1000000
22- 23 | 2.350E+007 | 1.022E+007 |  11.0000 4.4367 1.9172
23- 24 | 2.350E+007 | 1.022E+007 |  11.0000 4.4367 1.0172
24- 25 | 2.350E+007 | 1.022E+007 | 100.0000 | 100.0000 | 100.0000
25- 26 | 2.350E+007 | 1.022E+007 | 100.0000 | 100.0000 | 100.0000
P4 27- 28 | 2.350E+007 | 1.022E+007 | 100.0000 | 100.0000 | 100.0000
28- 29 | 2.350E+007 | 1.022E+007 | 100.0000 | 100.0000 | 1000000
29- 30 | 2.350E+007 | 1.022E+007 |  11.0000 4.4367 1.9172
30- 31 | 2.350E+007 | 1.022E+007 |  11.0000 4.4367 1.9172
31- 32 | 2.350E+007 | 1.022E+007 | 100.0000 | 100.0000 |  100.0000
32- 33 | 2.350E+007 | 1.022E+007 | 100.0000 | 100.0000 | 100.0000
A2 34- 35 | 2.350E+007 | 1.022E+007 |  24.0000 8.0000 8.0000
35- 36 | 2.350E+007 | 1.022E+007 |  24.0000 8.0000 8.0000
36- 37 | 2.350E+007 | 1.022E+007 | 100.0000 | 100.0000 |  100.0000
37- 38 | 2.350E+007 | 1.022E+007 | 100.0000 | 100.0000 | 100.0000
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1 2
(kN/m?) (kN/m?) ly (m) J (m%) ly (m) J ()
5 1 39- 41 | 2.000E+008 | 7.700E+007 7.2070 0.0070 7.2070 0.0070
(Bridge 1) 41- 42 7.2070 0.0070 7.2070 0.0070
42- 44 7.2070 0.0070 7.2070 0.0070
44- 45 7.2070 0.0070 7.2070 0.0070
45- 47 7.2070 0.0070 7.2070 0.0070
47- 48 7.2070 0.0070 7.2070 0.0070
48- 50 7.2070 0.0070 7.2070 0.0070
50- 51 7.2070 0.0070 7.2070 0.0070
51- 53 7.2070 0.0070 7.2070 0.0070
53- 54 7.2070 0.0070 7.2070 0.0070
40- 39 | 2.000E+008 | 7.700E+007 100.0000 100.0000 100.0000 100.0000
43- 42
46- 45
49- 48
52- 51
55- 54
Al 1- 2 | 2.350E+007 | 1.022E+007 288.0000 28.6402 288.0000 28.6402
2- 3| 2.350E+007 | 1.022E+007 288.0000 28.6402 288.0000 28.6402
3- 4| 2.350E+007 | 1.022E+007 100.0000 100.0000 100.0000 100.0000
4- 5| 2.350E+007 | 1.022E+007 100.0000 100.0000 100.0000 100.0000
P1 6- 7 | 2.350E+007 | 1.022E+007 100.0000 100.0000 100.0000 100.0000
7- 8 | 2.350E+007 | 1.022E+007 100.0000 100.0000 100.0000 100.0000
8- 9 | 2.350E+007 | 1.022E+007 22.9167 12.8427 8.0017 12.8427
9- 10 | 2.350E+007 | 1.022E+007 22.9167 12.8427 8.0017 12.8427
10- 11 | 2.350E+007 | 1.022E+007 100.0000 100.0000 100.0000 100.0000
11- 12 | 2.350E+007 | 1.022E+007 100.0000 100.0000 100.0000 100.0000
P2 13- 14 | 2.350E+007 | 1.022E+007 100.0000 100.0000 100.0000 100.0000
14- 15 | 2.350E+007 | 1.022E+007 100.0000 100.0000 100.0000 100.0000
15- 16 | 2.350E+007 | 1.022E+007 22.9167 12.8427 8.0017 12.8427
16- 17 | 2.350E+007 | 1.022E+007 22.9167 12.8427 8.0017 12.8427
17- 18 | 2.350E+007 | 1.022E+007 100.0000 100.0000 100.0000 100.0000
18- 19 | 2.350E+007 | 1.022E+007 100.0000 100.0000 100.0000 100.0000
P3 20- 21 | 2.350E+007 | 1.022E+007 100.0000 100.0000 100.0000 100.0000
21- 22 | 2.350E+007 | 1.022E+007 100.0000 100.0000 100.0000 100.0000
22- 23 | 2.350E+007 | 1.022E+007 22.9167 12.8427 8.0017 12.8427
23- 24 | 2.350E+007 | 1.022E+007 22.9167 12.8427 8.0017 12.8427
24- 25 | 2.350E+007 | 1.022E+007 100.0000 100.0000 100.0000 100.0000
25- 26 | 2.350E+007 | 1.022E+007 100.0000 100.0000 100.0000 100.0000
P4 27- 28 | 2.350E+007 | 1.022E+007 100.0000 100.0000 100.0000 100.0000
28- 29 | 2.350E+007 | 1.022E+007 100.0000 100.0000 100.0000 100.0000
29- 30 | 2.350E+007 | 1.022E+007 22.9167 12.8427 8.0017 12.8427
30- 31 | 2.350E+007 | 1.022E+007 22.9167 12.8427 8.0017 128427
31- 32 | 2.350E+007 | 1.022E+007 100.0000 100.0000 100.0000 100.0000
32- 33 | 2.350E+007 | 1.022E+007 100.0000 100.0000 100.0000 100.0000
A2 34- 35 | 2.350E+007 | 1.022E+007 288.0000 28.6402 288.0000 28.6402
35- 36 | 2.350E+007 | 1.022E+007 288.0000 28.6402 288.0000 28.6402
36- 37 | 2.350E+007 | 1.022E+007 100.0000 100.0000 100.0000 100.0000
37- 38 | 2.350E+007 | 1.022E+007 100.0000 100.0000 100.0000 100.0000
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5 I
@ () 0.000
0 m 0.000
®) () 0.000
@ @ 200.000
®) 5
(6) (kN/m?) 2.00E+008
Q) (kN/m?) 7.70E+007
(m
LL 0.000 | -—==—=—=---
S1 40.000 1
S2 40.000 1
S3 40.000 1
S4 40.000 1
S5 40.000 1
LR 0.000 | ~----mm---
HL (m) | H2 (m) (kN) (kN)
1 0.500 2.500 1540.000 2450.000
2 0.500 | -------- 3080.000 | ~-—-—=—===—=—=
3 0.500 2.500 3080.000 6970.000
4 0.500 | -------- 3080.000 | —-—-———=—=———=
5 0.500 2.500 3080.000 6970.000
6 0.500 | -====--- 3080.000 | -—--======—=—-
7 0.500 2.500 3080.000 6970.000
8 0.500 | -—------- 3080.000 | ~-—-=—===—=—=—=
9 0.500 2.500 3080.000 6970.000
10 0.500 | -------- 3080.000 | —-=-—===—=—=—=
11 0.500 2.500 1540.000 2450.000
( 1)
1z(m") ly(m) m) ()
1 10.00000 7.20700 0.00700 0.59100
2 10.00000 7.20700 0.00700 0.59100
3 10.00000 7.20700 0.00700 0.59100
4 10.00000 7.20700 0.00700 0.59100
5 10.00000 7.20700 0.00700 0.59100
6 10.00000 7.20700 0.00700 0.59100
7 10.00000 7.20700 0.00700 0.59100
8 10.00000 7.20700 0.00700 0.59100
9 10.00000 7.20700 0.00700 0.59100
10 10.00000 7.20700 0.00700 0.59100
( 2)
1z(m") ly(m) m) m)
1 10.00000 7.20700 0.00700 0.59100
2 10.00000 7.20700 0.00700 0.59100
3 10.00000 7.20700 0.00700 0.59100
4 10.00000 7.20700 0.00700 0.59100
5 10.00000 7.20700 0.00700 0.59100
6 10.00000 7.20700 0.00700 0.59100
7 10.00000 7.20700 0.00700 0.59100
8 10.00000 7.20700 0.00700 0.59100
9 10.00000 7.20700 0.00700 0.59100
10 10.00000 7.20700 0.00700 0.59100
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D
(KN/m) (kN/m) (kN/m) (kN.m/rad) (kN.m/rad) (kN.m/rad)
1
8.360000E+3
? 2.408000E+4 | 2.408000E+4
: 2.408000E+4 | 2.408000E+4
* 2.408000E+4 | 2.408000E+4
2.408000E+4 | 2.408000E+4
° 8.360000E+3
2 D)
(kN/m) (kN/m) (kN/m) (kN.m/rad) (kN.m/rad) (kN.m/rad)
1
8.360000E+3
? 2.408000E+4 | 2.408000E+4
2.408000E+4 | 2.408000E+4
* 2.408000E+4 | 2.408000E+4
° 2.408000E+4 | 2.408000E+4
° 8.360000E+3
2 1))
(kN/m) (kN/m) (kN/m) (kN.m/rad) (kN.m/rad) (kN.m/rad)
1
8.360000E+3
? 2.408000E+4 | 2.408000E+4
: 2.408000E+4 | 2.408000E+4
* 2.408000E+4 | 2.408000E+4
2.408000E+4 | 2.408000E+4
° 8.360000E+3
(ho)
(m
1 0.000
2 0.000
3 0.000
4 0.000
5 0.000
6 0.000
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Al
1 1
(kN)
24 2| 3425.100
4 4998.000
) m () (kN/m*) (kN/m*)
1- 2 2.5500 24.00000 2.35E+007 1.02E+007
2- 3 2.5500 24.00000 2.35E+007 1.02E+007
4 3- 4 1.0000 100.00000 2.35E+007 1.02E+007
4 - 5 1.0000 100.00000 2.35E+007 1.02E+007
g 1 1 1 2 2 2
4 4 & J 4 4 J
1z (m) ly (m) () 1z (m) ly (m) (m)
1- 2 8.00000 288.00000 28.64022 8.00000 288.00000 28.64022
2- 3 8.00000 288.00000 28.64022 8.00000 288.00000 28.64022
3- 4 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000
4 -5 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000
Kx(Ass) 3.593000E+006 kN/m | Kx(Arr) 9.693000E+007 | kN.m/rad
Ky(Avv) 6.141600E+006 kN/m | Ky kN.m/rad
Kz(Arr) 6.599625E+007 | kN.m/rad | Kz(Ass) 3.593000E+006 kN/m
Kxy (Asv) 0.000000E+000 kN/m | Kxy 0.000000E+000 | kN.m/rad
Kxz(Asr) -5.657000E+006 kN/rad | Kxz(Ars) -5.657000E+006 kN.m/m
Kyz(Avr) 7.677000E+006 kN/rad | Kyz 0.000000E+000 kN.m/m
(m) = -1.250
)
Ho Kx Kxy Kxz’ do
Vo |= | Kxy Ky Kyz’ ov
Mo Kxz' Kyz' Kz’ 6o
Kz =Kz +Kyz e 2+Ky e°= ( 5.640000E+007) (kN.m/rad)
Kxz" = Kxz + Kxy e = -5.657000E+006 (kN/rad)
Kyz® = Kyz + Ky e = 0.000000E+000 (kN/rad)
e
Kxy" = 0.000000E+000 (kN/m)
Kyz* = 0.000000E+000 (kN/rad)
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[ P1
1 1
2 I "
3 (v a) 2.292 5.236
(v a) 1.744 3.613
kN
4] (kN)
2 1371.755
4 2021.250
6 3894.275
5
6 @ ) (kN/m?) (kN/m?)
7 1- 2 1.1040 100.00000 2.35E+007 1.02E+007
2- 3 1.3960 100.00000 2.35E+007 1.02E+007
3- 4 3.7500 11.00000 2.35E+007 1.02E+007
4 -5 3.7500 11.00000 2.35E+007 1.02E+007
5- 6 1.1000 100.00000 2.35E+007 1.02E+007
6 - 7 1.1000 100.00000 2.35E+007 1.02E+007
1 1 1 2 2 2
4 4 & J 4 4 & J
1z (m) ly (m) (m) 1z (m) ly (m) (m)
1- 2 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000
2 -3 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000
3- 4 4._43667 22.91667 12.84266 1.91716 8.00165 12.84266
4 -5 4.43667 22.91667 12.84266 1.91716 8.00165 12.84266
5- 6 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000
6 - 7 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000
Kx(Ass) 2.763213E+006 kN/m | Kx(Arr) 3.916345E+007 | kN.m/rad
Ky (Awv) 4.012011E+006 kN/m | Ky kN.m/rad
Kz(Arr) 3.916345E+007 | kN.m/rad | Kz(Ass) 2.763213E+006 kN/m
Kxy(Asv) 0.000000E+000 kN/m | Kxy 0.000000E+000 | kN.m/rad
Kxz(Asr) -4 _445867E+006 kN/rad | Kxz(Ars) -4 _445867E+006 kN.m/m
Kyz(Avr) 0.000000E+000 kN/rad | Kyz 0.000000E+000 kN.m/m
(m) = 0.000
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[ ] P2
1 1
2 I "
3 (v a) 2.292 5.236
(v a) 1.744 3.613
kN
4] (kN)
2 1371.755
4 2021.250
6 3894.275
5
6 @ ) (kN/m?) (kN/m?)
7 1- 2 1.1040 100.00000 2.35E+007 1.02E+007
2- 3 1.3960 100.00000 2.35E+007 1.02E+007
3- 4 3.7500 11.00000 2.35E+007 1.02E+007
4 -5 3.7500 11.00000 2.35E+007 1.02E+007
5- 6 1.1000 100.00000 2.35E+007 1.02E+007
6 - 7 1.1000 100.00000 2.35E+007 1.02E+007
1 1 1 2 2 2
4 4 & J 4 4 & J
1z (m) ly (m) (m) 1z (m) ly (m) (m)
1- 2 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000
2 -3 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000
3- 4 4._43667 22.91667 12.84266 1.91716 8.00165 12.84266
4 -5 4.43667 22.91667 12.84266 1.91716 8.00165 12.84266
5- 6 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000
6 - 7 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000
Kx(Ass) 2.763213E+006 kN/m | Kx(Arr) 3.916345E+007 | kN.m/rad
Ky (Awv) 4.012011E+006 kN/m | Ky kN.m/rad
Kz(Arr) 3.916345E+007 | kN.m/rad | Kz(Ass) 2.763213E+006 kN/m
Kxy(Asv) 0.000000E+000 kN/m | Kxy 0.000000E+000 | kN.m/rad
Kxz(Asr) -4 _445867E+006 kN/rad | Kxz(Ars) -4 _445867E+006 kN.m/m
Kyz(Avr) 0.000000E+000 kN/rad | Kyz 0.000000E+000 kN.m/m
(m) = 0.000
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[ ] P3
1 1
2 I "
3 (v a) 2.292 5.236
(v a) 1.744 3.613
kN
4] (kN)
2 1371.755
4 2021.250
6 3894.275
5
6 @ ) (kN/m?) (kN/m?)
7 1- 2 1.1040 100.00000 2.35E+007 1.02E+007
2- 3 1.3960 100.00000 2.35E+007 1.02E+007
3- 4 3.7500 11.00000 2.35E+007 1.02E+007
4 -5 3.7500 11.00000 2.35E+007 1.02E+007
5- 6 1.1000 100.00000 2.35E+007 1.02E+007
6 - 7 1.1000 100.00000 2.35E+007 1.02E+007
1 1 1 2 2 2
4 4 & J 4 4 & J
1z (m) ly (m) (m) 1z (m) ly (m) (m)
1- 2 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000
2 -3 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000
3- 4 4._43667 22.91667 12.84266 1.91716 8.00165 12.84266
4 -5 4.43667 22.91667 12.84266 1.91716 8.00165 12.84266
5- 6 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000
6 - 7 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000
Kx(Ass) 2.763213E+006 kN/m | Kx(Arr) 3.916345E+007 | kN.m/rad
Ky (Awv) 4.012011E+006 kN/m | Ky kN.m/rad
Kz(Arr) 3.916345E+007 | kN.m/rad | Kz(Ass) 2.763213E+006 kN/m
Kxy(Asv) 0.000000E+000 kN/m | Kxy 0.000000E+000 | kN.m/rad
Kxz(Asr) -4 _445867E+006 kN/rad | Kxz(Ars) -4 _445867E+006 kN.m/m
Kyz(Avr) 0.000000E+000 kN/rad | Kyz 0.000000E+000 kN.m/m
(m) = 0.000
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u P4
1 1
2 I "
3 (v a) 2.292 5.236
(v a) 1.744 3.613
kN
4] (kN)
2 1371.755
4 2021.250
6 3894.275
5
6 @ ) (kN/m?) (kN/m?)
7 1- 2 1.1040 100.00000 2.35E+007 1.02E+007
2- 3 1.3960 100.00000 2.35E+007 1.02E+007
3- 4 3.7500 11.00000 2.35E+007 1.02E+007
4 -5 3.7500 11.00000 2.35E+007 1.02E+007
5- 6 1.1000 100.00000 2.35E+007 1.02E+007
6 - 7 1.1000 100.00000 2.35E+007 1.02E+007
1 1 1 2 2 2
4 4 & J 4 4 & J
1z (m) ly (m) (m) 1z (m) ly (m) (m)
1- 2 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000
2 -3 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000
3- 4 4._43667 22.91667 12.84266 1.91716 8.00165 12.84266
4 -5 4.43667 22.91667 12.84266 1.91716 8.00165 12.84266
5- 6 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000
6 - 7 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000
Kx(Ass) 2.763213E+006 kN/m | Kx(Arr) 3.916345E+007 | kN.m/rad
Ky (Awv) 4.012011E+006 kN/m | Ky kN.m/rad
Kz(Arr) 3.916345E+007 | kN.m/rad | Kz(Ass) 2.763213E+006 kN/m
Kxy(Asv) 0.000000E+000 kN/m | Kxy 0.000000E+000 | kN.m/rad
Kxz(Asr) -4 _445867E+006 kN/rad | Kxz(Ars) -4 _445867E+006 kN.m/m
Kyz(Avr) 0.000000E+000 kN/rad | Kyz 0.000000E+000 kN.m/m
(m) = 0.000

FORUMS8




- 31 -

A2
]
(kN)
24 2| 3425.100
4 4998.000
. m () (kN/m*) (kN/m*)
1- 2 2.5500 24.00000 2.35E+007 1.02E+007
2- 3 2.5500 24.00000 2.35E+007 1.02E+007
4 3- 4 1.0000 100.00000 2.35E+007 1.02E+007
4 - 5 1.0000 100.00000 2.35E+007 1.02E+007
g 1 1 1 2 2 2
4 4 & J 4 4 J
1z (m) ly (m) () 1z (m) ly (m) (m)
1- 2 8.00000 288.00000 28.64022 8.00000 288.00000 28.64022
2- 3 8.00000 288.00000 28.64022 8.00000 288.00000 28.64022
3- 4 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000
4 - 5 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000
Kx(Ass) 3.593000E+006 kN/m | Kx(Arr) 9.693000E+007 | kN.m/rad
Ky(Avv) 6.141600E+006 kN/m | Ky kN.m/rad
Kz(Arr) 6.599625E+007 | kN.m/rad | Kz(Ass) 3.593000E+006 kN/m
Kxy (Asv) 0.000000E+000 kN/m | Kxy 0.000000E+000 | kN.m/rad
Kxz(Asr) -5.657000E+006 kN/rad | Kxz(Ars) -5.657000E+006 kN.m/m
Kyz(Avr) 7.677000E+006 kN/rad | Kyz 0.000000E+000 kN.m/m
(m) = -1.250
Ho Kx Kxy Kxz’ do
Vo |= | Kxy Ky Kyz’ ov
Mo Kxz' Kyz' Kz’ 6o
Kz =Kz +Kyz e 2+Ky e°= ( 5.640000E+007) (kN.m/rad)
Kxz" = Kxz + Kxy e = -5.657000E+006 (kN/rad)
Kyz® = Kyz + Ky e = 0.000000E+000 (kN/rad)
e

FORUMS8
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1.3.2

®
®
®
9
®

\ { {
O A < «

[ e JKSPalh: $niEh = 1:3.55 ]

(Bridge)

|
Ui )

WiCkN) 1 21) 2311)

5 I 1| 1540.000 0.3488 0.3751 0.3751
(Bridge 1) 2| 3080.000 0.3490 0.3754 0.3754
3| 3080.000 0.3487 0.3751 0.3751

4| 3080.000 0.3489 0.3754 0.3754

5| 3080.000 0.3486 0.3751 0.3751

6| 3080.000 0.3489 0.3754 0.3754

7| 3080.000 0.3486 0.3751 0.3751

8| 3080.000 0.3489 0.3754 0.3754

9| 3080.000 0.3487 0.3751 0.3751

10| 3080.000 0.3490 0.3754 0.3754

11| 1540.000 0.3488 0.3751 0.3751

AL 1 0.000 0.0148 0.0153 0.0153
2| 3425.100 0.0110 0.0113 0.0113

3 0.000 0.0075 0.0077 0.0077

4| 49987000 0.0063 0.0064 0.0064

5 0.000 0.0050 0.0052 0.0052

P1 1 0.000 0.0868 0.1177 0.1177
2| 1371.755 0.0784 0.1044 0.1044

3 0.000 0.0677 0.0876 0.0876

4| 2021.250 0.0409 0.0466 0.0466

5 0.000 0.0205 0.0203 0.0203

6| 3894.275 0.0160 0.0158 0.0158

7 0.000 0.0115 0.0114 0.0114

FORUMS8
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Ui (m)
WiCkN) 1 2(1) 2311)
P2 1 0.000 0.0868 0.1177 0.1177
2| 1371.755 0.0784 0.1044 0.1044
3 0.000 0.0677 0.0876 0.0876
4| 2021.250 0.0409 0.0466 0.0466
5 0.000 0.0205 0.0203 0.0203
6| 3894.275 0.0160 0.0158 0.0158
7 0.000 0.0115 0.0114 0.0114
P3 1 0.000 0.0868 0.1177 0.1177
2| 1371.755 0.0784 0.1044 0.1044
3 0.000 0.0677 0.0876 0.0876
4| 2021.250 0.0409 0.0466 0.0466
5 0.000 0.0205 0.0203 0.0203
6| 3894.275 0.0160 0.0158 0.0158
7 0.000 0.0115 0.0114 0.0114
P4 1 0.000 0.0868 0.1177 0.1177
2| 1371.755 0.0784 0.1044 0.1044
3 0.000 0.0677 0.0876 0.0876
4| 2021.250 0.0409 0.0466 0.0466
5 0.000 0.0205 0.0203 0.0203
6| 3894.275 0.0160 0.0158 0.0158
7 0.000 0.0115 0.0114 0.0114
A2 1 0.000 0.0148 0.0153 0.0153
2| 34250100 0.0110 0.0113 0.0113
3 0.000 0.0075 0.0077 0.0077
4| 4998.000 0.0063 0.0064 0.0064
5 0.000 0.0050 0.0052 0.0052
1
(m (m A (m)
(KN/m)
1 8.360000E+003 0.3487 0.0148 0.3339
> 2. 408000E+004 0.3486 0.0868 0.2618
5 I 3 2. 408000E+004 0.3486 0.0868 0.2618
(Bridge 1) 4 2 408000E+004 0.3486 0.0868 0.2618
5 2. 408000E+004 0.3486 0.0868 0.2618
6 8.360000E+003 0.3487 0.0148 0.3339
2 I
(m (m A (m)
(KN/m)
1 8.360000E+003 0.3751 0.0153 0.3598
2 2. 408000E+004 0.3751 0.1177 0.2573
5 I 3 2. 408000E-+004 0.3750 0.1177 0.2573
(Bridge 1) 4 2.408000E+004 0.3750 0.1177 0.2573
5 2. 408000E+004 0.3751 0.1177 0.2573
6 8.360000E+003 0.3751 0.0153 0.3598
2 T
(m (m A (m)
(KN/m)
1 8.360000E+003 0.3751 0.0153 0.3598
2 2. 408000E+004 0.3751 0.1177 0.2573
5 I 3 2. 408000E+004 0.3750 0.1177 0.2573
(Bridge 1) 4 2. 408000E+004 0.3750 0.1177 0.2573
5 2. 408000E+004 0.3751 0.1177 0.2573
6 8.360000E+003 0.3751 0.0153 0.3598

FORUMS8
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1 2(1) 2311
Al O O) 0.0050 0.0052 0.0052
") (M 0.0001 0.0001 0.0001
@ ) (rad) -0.0012 -0.0013 -0.0013
P1 ) (m 0.0115 0.0114 0.0114
) 0.0000 0.0000 0.0000
@ ) (rad) -0.0041 -0.0040 -0.0040
P2 o) (M 0.0115 0.0114 0.0114
OO 0.0000 0.0000 0.0000
@ ) (rad) -0.0041 -0.0040 -0.0040
P3 o) (m 0.0115 0.0114 0.0114
") (M 0.0000 0.0000 0.0000
@ ) (rad) -0.0041 -0.0040 -0.0040
P4 o) (M 0.0115 0.0114 0.0114
OO 0.0000 0.0000 0.0000
@ ) (rad) -0.0041 -0.0040 -0.0040
A2 ) (m 0.0050 0.0052 0.0052
") (M -0.0001 -0.0001 -0.0001
@ ) (rad) -0.0012 -0.0013 -0.0013
F
1 2(1) 2(11)
F(kN) F(kN) F(kN)
Al Bridge 1 1 2791.760 3008.107 3008.107
P1 Bridge 1 2 6304.533 6196.026 6196.026
P2 Bridge 1 3 6303.707 6195.867 6195.867
P3 Bridge 1 4 6303.707 6195.867 6195.867
P4 Bridge 1 5 6304.533 6196.026 6196.026
A2 Bridge 1 6 2791.760 3008.107 3008.107

FORUMS8
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1.3.3

(Bridge)

®

[ e JKSPalh: $niEh = 1:3.55 ]

Ui )

WiCkN) 1 21) 2311)

5 I 1| 1540.000 0.0162 0.0163 0.0163
(Bridge 1) 2| 3080.000 0.1318 0.1363 0.1363
3| 3080.000 0.2295 0.2378 0.2378

4| 3080.000 0.3018 0.3132 0.3132

5| 3080.000 0.3441 0.3574 0.3574

6| 3080.000 0.3501 0.3731 0.3731

7| 3080.000 0.3441 0.3574 0.3574

8| 3080.000 0.3018 0.3132 0.3132

9| 3080.000 0.2295 0.2378 0.2378

10| 3080.000 0.1318 0.1363 0.1363

11| 1540.000 0.0162 0.0163 0.0163

AL 1 0.000 0.0134 0.0135 0.0135
2| 3425.100 0.0105 0.0106 0.0106

3 0.000 0.0076 0.0077 0.0077

4| 49987000 0.0065 0.0066 0.0066

5 0.000 0.0055 0.0055 0.0055

P1 1 0.000 0.0555 0.0629 0.0629
2| 1371.755 0.0510 0.0572 0.0572

3 0.000 0.0454 0.0500 0.0500

4| 2021.250 0.0306 0.0319 0.0319

5 0.000 0.0169 0.0168 0.0168

6| 3894.275 0.0132 0.0131 0.0131

7 0.000 0.0095 0.0094 0.0094

FORUMS8
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Ui (m)
WiCkN) 1 2(1) 2311)
P2 1 0.000 0.0741 0.0850 0.0850
2| 1371.755 0.0681 0.0772 0.0772
3 0.000 0.0604 0.0673 0.0673
4| 2021.250 0.0404 0.0423 0.0423
5 0.000 0.0221 0.0220 0.0220
6| 3894.275 0.0171 0.0170 0.0170
7 0.000 0.0121 0.0121 0.0121
P3 1 0.000 0.0741 0.0850 0.0850
2| 1371.755 0.0681 0.0772 0.0772
3 0.000 0.0604 0.0673 0.0673
4| 2021.250 0.0404 0.0423 0.0423
5 0.000 0.0221 0.0220 0.0220
6| 3894.275 0.0171 0.0170 0.0170
7 0.000 0.0121 0.0121 0.0121
P4 1 0.000 0.0555 0.0629 0.0629
2| 1371.755 0.0510 0.0572 0.0572
3 0.000 0.0454 0.0500 0.0500
4| 2021.250 0.0306 0.0319 0.0319
5 0.000 0.0169 0.0168 0.0168
6| 3894.275 0.0132 0.0131 0.0131
7 0.000 0.0095 0.0094 0.0094
A2 1 0.000 0.0134 0.0135 0.0135
2| 34250100 0.0105 0.0106 0.0106
3 0.000 0.0076 0.0077 0.0077
4| 4998.000 0.0065 0.0066 0.0066
5 0.000 0.0055 0.0055 0.0055
1
(m (m A (m)
(KN/m)
/1 N 0.0134 0.0134 0.0000
> 2. 408000E+004 0.2193 0.0555 0.1638
5 I 3 2. 408000E+004 0.3304 0.0741 0.2562
(Bridge 1) 4 2 408000E+004 0.3304 0.0741 0.2562
5 2. 408000E+004 0.2193 0.0555 0.1638
6| | 0.0134 0.0134 0.0000
2 I
(m (m A (m)
(KN/m)
/1 R IR 0.0135 0.0135 0.0000
2 2 .408000E+004 0.2249 0.0629 0.1620
5 I 3 2. 408000E-+004 0.3397 0.0850 0.2547
(Bridge 1) 4 2.408000E+004 0.3397 0.0850 0.2547
5 2. 408000E+004 0.2249 0.0629 0.1620
6| | Ll 0.0135 0.0135 0.0000
2 T
(m (m A (m)
(KN/m)
i R I 0.0135 0.0135 0.0000
2 2. 408000E+004 0.2249 0.0629 0.1620
5 I 3 2. 408000E+004 0.3397 0.0850 0.2547
(Bridge 1) 4 2. 408000E+004 0.3397 0.0850 0.2547
5 2.408000E+004 0.2249 0.0629 0.1620
6| | - 0.0135 0.0135 0.0000

FORUMS8
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1 2(1) 2(11)
Al o) (rad) 0.0011 0.0011 0.0011
) (rad) 0.0000 0.0000 0.0000
@ M 0.0055 0.0055 0.0055
P1 ) (rad) 0.0034 0.0033 0.0033
) (rad) 0.0000 0.0000 0.0000
@ ) 0.0095 0.0094 0.0094
P2 ) (rad) 0.0045 0.0045 0.0045
) (rad) 0.0000 0.0000 0.0000
@ 0.0121 0.0121 0.0121
P3 ) (rad) 0.0045 0.0045 0.0045
) (rad) 0.0000 0.0000 0.0000
@ M 0.0121 0.0121 0.0121
P4 o) (rad) 0.0034 0.0033 0.0033
) (rad) 0.0000 0.0000 0.0000
@ ) 0.0095 0.0094 0.0094
A2 ) (rad) 0.0011 0.0011 0.0011
) (rad) 0.0000 0.0000 0.0000
@ 0.0055 0.0055 0.0055
F
1 2(1) 2(11)
F(kN) F(kN) F(kN)
Al Bridge 1 1 5285.495 5365.734 5365.734
P1 Bridge 1 2 3944556 3901.992 3901.992
P2 Bridge 1 3 6169.949 6132.274 6132.274
P3 Bridge 1 4 6169.949 6132.274 6132.274
P4 Bridge 1 5 3944556 3901.992 3901.992
A2 Bridge 1 6 5285.495 5365.734 5365.734

FOR

UmM8
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1.4
1.4.1
(
T(sec) | Khg Kho Khi | Kh F (kN) H (kN) Wu (kN)
Al 0.20 | 0.2500 | 0.25 2791.760 697.940 2791.760
P1 0.20 | 0.2500 | 0.25 6304.533 1576.133 6304.533
1 P2 | 1.136|0.20 | 0.2500 | 0.25 | 0.25 6303.707 1575.927 6303.707
P3 0.20 | 0.2500 | 0.25 6303.707 1575.927 6303.707
P4 0.20 | 0.2500 | 0.25 6304.533 1576.133 6304.533
A2 0.20 | 0.2500 | 0.25 2791.760 697.940 2791.760
(
T(sec) | Khg Kho Khi | Kh F (kN) H (kN) Wu (kN)
Al 0.20 | 0.2500 | 0.25 5285.495 1321.374 5285.495
P1 0.20 | 0.2500 | 0.25 3944556 986.139 3944556
1 P2 | 1.021 |0.20 | 0.2500 | 0.25 | 0.25 6169.949 1542.487 6169.949
P3 0.20 | 0.2500 | 0.25 6169.949 1542.487 6169.949
P4 0.20 | 0.2500 | 0.25 3944 556 986.139 3944556
A2 0.20 | 0.2500 | 0.25 5285.495 1321.374 5285.495
( I )
T(sec) | Khg | Khco Cs Khei | Khe F (kN) H (kN) Wu (kN)
Al 0.35|0.8500 | ----- -——- 3008.107 1353.648 3008.107
P1 0.35 | 0.8500 | 0.528 | 0.45 6196.026 2788.212 6196.026
1 P2 | 1.177|0.35|0.8500 | 0.528 | 0.45 | 0.45 6195.867 2788.140 6195.867
P3 0.35|0.8500 | 0.528 | 0.45 6195.867 2788.140 6195.867
P4 0.35 | 0.8500 | 0.528 | 0.45 6196.026 2788.212 6196.026
A2 0.35|0.8500 | ----- -—-- 3008.107 1353.648 3008.107
( I )
T(sec) | Khg | Khco Cs Khci | Khe F (kN) H (kN) Wu (kN)
Al 0.35|0.8500 | ----- - 5365.734 2897.496 5365.734
P1 0.35 | 0.8500 | 0.634 | 0.54 3901.992 2107.075 3901.992
1 P2 | 1.040|0.35|0.8500 | 0.634 | 0.54 | 0.54 6132.274 3311.428 6132.274
P3 0.35 | 0.8500 | 0.634 | 0.54 6132.274 3311.428 6132.274
P4 0.35 | 0.8500 | 0.634 | 0.54 3901.992 2107.075 3901.992
A2 0.35|0.8500 | ----- — 5365.734 2897.496 5365.734
( 11
T(sec) | Khg | Khco Cs Khei | Khe F (kN) H (kN) Wu (kN)
Al 0.70 | 1.7500 | ----- ———- 3008.107 1714.621 3008.107
P1 0.70 | 1.7500 | 0.325 | 0.57 6196.026 3531.735 6196.026
1 P2 | 1.177|0.70 | 1.7500 | 0.325 | 0.57 | 0.57 6195.867 3531.644 6195.867
P3 0.70 | 1.7500 | 0.325 | 0.57 6195.867 3531.644 6195.867
P4 0.70 | 1.7500 | 0.325 | 0.57 6196.026 3531.735 6196.026
A2 0.70 | 1.7500 | ----- — 3008.107 1714.621 3008.107

FORUMS8




11 )
T(sec) | Khg | Khco Cs Khei | Khe F (kN) H (kN) Wu (kN)

Al 0.70 | 1.7500 | ----- -——- 5365.734 3756.014 5365.734
P1 0.70 | 1.7500 | 0.401 | 0.70 3901.992 2731.394 3901.992

1 P2 | 1.040|0.70 | 1.7500 | 0.401 |0.70 | 0.70 6132.274 4292.592 6132.274
P3 0.70 | 1.7500 | 0.401|0.70 6132.274 4292.592 6132.274
P4 0.70 | 1.7500 | 0.401 | 0.70 3901.992 2731.394 3901.992
A2 0.70 | 1.7500 | ----- -——- 5365.734 3756.014 5365.734

T

Khg

Kho 1

Khi 1

Kh 1

Khco 2

Cs

Khci 2

Khc 2

F (kN)

H (kN)

Wu (kN)

FORUMS8
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1.4.2

1 1
Khgo Khg Kho Khi Kh
5 | -—— -—— ——— - -——-
Al 11 0.2000 0.20 0.2500 0.25
P1 11 0.2000 0.20 0.2500 0.25 0.25
P2 1 0.2000 0.20 | 0.2500 0.25 :
P3 1 0.2000 0.20 | 0.2500 0.25
P4 11 0.2000 0.20 0.2500 0.25
A2 11 0.2000 0.20 0.2500 0.25
Khgo
Khg Khg = Cz Khgo
Kho
Khi Khi = Cz Kho
(Khi 0.1 0.1 )
Kh
( )
Cz = 1.00
T=201/6 =1.136 (s)
S WixUi? 3800. 171
0 = - — = = 0.320 (m)
2 Wi X Ui 11891. 435
Wi x Ui Wi x Ui’
Wi (kN) Ui (m) (kN.m) (KN.m)
5 | 1 1540.000 0.3488 537.144 187.353
(Bridge 1) 2 3080.000 0.3490 1074.939 375.161
3 3080.000 0.3487 1073.987 374.496
4 3080.000 0.3489 1074.714 375.004
5 3080.000 0.3486 1073.837 374.391
6 3080.000 0.3489 1074.639 374.951
7 3080.000 0.3486 1073.837 374.391
8 3080.000 0.3489 1074.714 375.004
9 3080.000 0.3487 1073.987 374.496
10 3080.000 0.3490 1074.939 375.161
11 1540.000 0.3488 537.144 187.353
Al 1 0.000 0.0148 0.000 0.000
2 3425.100 0.0110 37.706 0.415
3 0.000 0.0075 0.000 0.000
4 4998.000 0.0063 31.369 0.197
5 0.000 0.0050 0.000 0.000
P1 1 0.000 0.0868 0.000 0.000
2 1371.755 0.0784 107.499 8.424
3 0.000 0.0677 0.000 0.000
4 2021.250 0.0409 82.656 3.380
5 0.000 0.0205 0.000 0.000
6 3894.275 0.0160 62.206 0.994
7 0.000 0.0115 0.000 0.000

FORUMS8
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Wi x Ui Wi x Ui’
Wi (kN) Ui (m) (kN.m) (kN.m?)

p2 1 0.000 0.0868 0.000 0.000
2 1371.755 0.0784 107.489 8.423

3 0.000 0.0677 0.000 0.000

4 2021.250 0.0409 82.649 3.380

5 0.000 0.0205 0.000 0.000

6 3894.275 0.0160 62.201 0.994

7 0.000 0.0115 0.000 0.000

P3 1 0.000 0.0868 0.000 0.000
2 1371.755 0.0784 107.489 8.423

3 0.000 0.0677 0.000 0.000

4 2021.250 0.0409 82.649 3.380

5 0.000 0.0205 0.000 0.000

6 3894.275 0.0160 62.201 0.994

7 0.000 0.0115 0.000 0.000

P4 1 0.000 0.0868 0.000 0.000
2 1371.755 0.0784 107.499 8.424

3 0.000 0.0677 0.000 0.000

4 2021.250 0.0409 82.656 3.380

5 0.000 0.0205 0.000 0.000

6 3894.275 0.0160 62.206 0.994

7 0.000 0.0115 0.000 0.000

A2 1 0.000 0.0148 0.000 0.000
2 3425.100 0.0110 37.706 0.415

3 0.000 0.0075 0.000 0.000

4 4998.000 0.0063 31.369 0.197

5 0.000 0.0050 0.000 0.000

11891.435 3800.171

FORUMS8
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2 I 1
Khgo Khg Khco Cs M a Khci Khe
5 | B e B e E e B B e Tt
Al 11 0.3500 0.35 0.8500 | ------ |  —————— | —————-
P1 11 0.3500 0.35 0.8500 0.528 2.292 0.45 0.45
p2 11 0.3500 0.35 0.8500 0.528 2.292 0.45 -
P3 11 0.3500 0.35 0.8500 0.528 2.292 0.45
P4 11 0.3500 0.35 0.8500 0.528 2.292 0.45
A2 11 0.3500 0.35 0.8500 | ------ | —————— | —m———-
Khgo ( D)
Khg ( D) Khg = Cz Khgo
Khco ( D)
1
Cs D MEEM R IESR L Cs = ——
v2+ na—l1
M a
Khci Khei = Cs Cz Khco
(Cz Khco 0.3 Khei = 0.3 Cs )
(Khci 0.4 Cz Khci = 0.4 Cz )
Khc
( )
Cz =1.00
= 2,018 = 1.177 (s)
> WixUi? 4419. 611
5 —— = = 0.343 (m)
2 WiXUi 12895. 768
Wi x Ui Wi x Ui’
Wi (kN) Ui (m) (kN.m) (kN.m%)
5 | 1 1540.000 0.3751 577.721 216.729
(Bridge 1) 2 3080.000 0.3754 1156.208 434.031
3 3080.000 0.3751 1155.368 433.401
4 3080.000 0.3754 1156.152 433.989
5 3080.000 0.3751 1155.330 433.373
6 3080.000 0.3754 1156.133 433.975
7 3080.000 0.3751 1155.330 433.373
8 3080.000 0.3754 1156.152 433.989
9 3080.000 0.3751 1155.368 433.401
10 3080.000 0.3754 1156.208 434.031
11 1540.000 0.3751 577.721 216.729
Al 1 0.000 0.0153 0.000 0.000
2 3425.100 0.0113 38.810 0.440
3 0.000 0.0077 0.000 0.000
4 4998.000 0.0064 32.180 0.207
5 0.000 0.0052 0.000 0.000
P1 1 0.000 0.1177 0.000 0.000
2 1371.755 0.1044 143.252 14.960
3 0.000 0.0876 0.000 0.000
4 2021.250 0.0466 94217 4.392
5 0.000 0.0203 0.000 0.000
6 3894.275 0.0158 61.558 0.973
7 0.000 0.0114 0.000 0.000

FORUMS8
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Wi x Ui Wi x Ui’
Wi (kN) Ui (m) (kN.m) (kN.m?)

p2 1 0.000 0.1177 0.000 0.000
2 1371.755 0.1044 143.249 14.959

3 0.000 0.0876 0.000 0.000

4 2021.250 0.0466 94.216 4.392

5 0.000 0.0203 0.000 0.000

6 3894.275 0.0158 61.557 0.973

7 0.000 0.0114 0.000 0.000

P3 1 0.000 0.1177 0.000 0.000
2 1371.755 0.1044 143.249 14.959

3 0.000 0.0876 0.000 0.000

4 2021.250 0.0466 94.216 4.392

5 0.000 0.0203 0.000 0.000

6 3894.275 0.0158 61.557 0.973

7 0.000 0.0114 0.000 0.000

P4 1 0.000 0.1177 0.000 0.000
2 1371.755 0.1044 143.252 14.960

3 0.000 0.0876 0.000 0.000

4 2021.250 0.0466 94.217 4.392

5 0.000 0.0203 0.000 0.000

6 3894.275 0.0158 61.558 0.973

7 0.000 0.0114 0.000 0.000

A2 1 0.000 0.0153 0.000 0.000
2 3425.100 0.0113 38.810 0.440

3 0.000 0.0077 0.000 0.000

4 4998.000 0.0064 32.180 0.207

5 0.000 0.0052 0.000 0.000

12895.768 4419.611

FORUMS8
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2 1 1
Khgo Khg Khco Cs M a Khci Khe
5 | B e B e E e B B e Tt
Al 11 0.7000 0.70 1.7500 | ---——-| | -
P1 11 0.7000 0.70 1.7500 0.325 5.236 0.57 0.57
p2 11 0.7000 0.70 1.7500 0.325 5.236 0.57 -
P3 11 0.7000 0.70 1.7500 0.325 5.236 0.57
P4 11 0.7000 0.70 1.7500 0.325 5.236 0.57
A2 11 0.7000 0.70 1.7500 | ---—--| - | -
Khgo ( I
Khg ( ) Khg = Cz Khgo
Khco ( I
1
Cs D MEEM R IESR L Cs = ——
v2+ na—l1
M a
Khci Khei = Cs Cz Khco
(Cz Khco 0.6 Khci = 0.6 Cs )
(Khci 0.4 Cz Khci = 0.4 Cz )
Khc
( )
Cz =1.00
= 2,018 = 1.177 (s)
> WixUi? 4419. 611
5 —— = = 0.343 (m)
2 WiXUi 12895. 768
Wi x Ui Wi x Ui’
Wi (kN) Ui (m) (kN.m) (kN.m%)
5 | 1 1540.000 0.3751 577.721 216.729
(Bridge 1) 2 3080.000 0.3754 1156.208 434.031
3 3080.000 0.3751 1155.368 433.401
4 3080.000 0.3754 1156.152 433.989
5 3080.000 0.3751 1155.330 433.373
6 3080.000 0.3754 1156.133 433.975
7 3080.000 0.3751 1155.330 433.373
8 3080.000 0.3754 1156.152 433.989
9 3080.000 0.3751 1155.368 433.401
10 3080.000 0.3754 1156.208 434.031
11 1540.000 0.3751 577.721 216.729
Al 1 0.000 0.0153 0.000 0.000
2 3425.100 0.0113 38.810 0.440
3 0.000 0.0077 0.000 0.000
4 4998.000 0.0064 32.180 0.207
5 0.000 0.0052 0.000 0.000
P1 1 0.000 0.1177 0.000 0.000
2 1371.755 0.1044 143.252 14.960
3 0.000 0.0876 0.000 0.000
4 2021.250 0.0466 94217 4.392
5 0.000 0.0203 0.000 0.000
6 3894.275 0.0158 61.558 0.973
7 0.000 0.0114 0.000 0.000

FORUMS8




- 45 -

Wi x Ui Wi x Ui’
Wi (kN) Ui (m) (kN.m) (kN.m?)

p2 1 0.000 0.1177 0.000 0.000
2 1371.755 0.1044 143.249 14.959

3 0.000 0.0876 0.000 0.000

4 2021.250 0.0466 94.216 4.392

5 0.000 0.0203 0.000 0.000

6 3894.275 0.0158 61.557 0.973

7 0.000 0.0114 0.000 0.000

P3 1 0.000 0.1177 0.000 0.000
2 1371.755 0.1044 143.249 14.959

3 0.000 0.0876 0.000 0.000

4 2021.250 0.0466 94.216 4.392

5 0.000 0.0203 0.000 0.000

6 3894.275 0.0158 61.557 0.973

7 0.000 0.0114 0.000 0.000

P4 1 0.000 0.1177 0.000 0.000
2 1371.755 0.1044 143.252 14.960

3 0.000 0.0876 0.000 0.000

4 2021.250 0.0466 94.217 4.392

5 0.000 0.0203 0.000 0.000

6 3894.275 0.0158 61.558 0.973

7 0.000 0.0114 0.000 0.000

A2 1 0.000 0.0153 0.000 0.000
2 3425.100 0.0113 38.810 0.440

3 0.000 0.0077 0.000 0.000

4 4998.000 0.0064 32.180 0.207

5 0.000 0.0052 0.000 0.000

12895.768 4419.611

FORUMS8




- 46 -

1 1
Khgo Khg Kho Khi Kh
5 | —— ——- ———— | e ——
Al 11 0.2000 0.20 0.2500 0.25
P1 ] 0.2000 0.20 0.2500 0.25 0.25
P2 ] 0.2000 0.20 0.2500 0.25 .
P3 11 0.2000 0.20 0.2500 0.25
P4 11 0.2000 0.20 0.2500 0.25
A2 11 0.2000 0.20 0.2500 0.25
Khgo
Khg Khg = Cz Khgo
Kho
Khi Khi = Cz Kho
(Khi 0.1 0.1 )
Kh
( )
Cz =1.00
T=201y6 =1.021 (s)
T WixXUi* 2155. 035
= ; - = = 0.258 (m)
2WiXUi 8347. 142
Wi x Ui Wi x Ui’
Wi (kN) Ui (m) (kN.m) (KN.m?)
5 | 1 1540.000 0.0162 24905 0.403
(Bridge 1) 2 3080.000 0.1318 405.886 53.488
3 3080.000 0.2295 706.711 162.156
4 3080.000 0.3018 929.668 280.612
5 3080.000 0.3441 1059.842 364.697
6 3080.000 0.3591 1106.149 397.262
7 3080.000 0.3441 1059.842 364.697
8 3080.000 0.3018 929.668 280.612
9 3080.000 0.2295 706.711 162.156
10 3080.000 0.1318 405.886 53.488
11 1540.000 0.0162 24905 0.403
Al 1 0.000 0.0134 0.000 0.000
2 3425.100 0.0105 35.907 0.376
3 0.000 0.0076 0.000 0.000
4 4998.000 0.0065 32.727 0.214
5 0.000 0.0055 0.000 0.000
P1 1 0.000 0.0555 0.000 0.000
2 1371.755 0.0510 69.999 3.572
3 0.000 0.0454 0.000 0.000
4 2021.250 0.0306 61.864 1.893
5 0.000 0.0169 0.000 0.000
6 3894.275 0.0132 51.365 0.678
7 0.000 0.0095 0.000 0.000
p2 1 0.000 0.0741 0.000 0.000
2 1371.755 0.0681 93.373 6.356
3 0.000 0.0604 0.000 0.000
4 2021.250 0.0404 81.755 3.307
5 0.000 0.0221 0.000 0.000
6 3894.275 0.0171 66.495 1.135
7 0.000 0.0121 0.000 0.000

FORUMS8




- 47 -

Wi x Ui Wi x Ui’
Wi (kN) Ui (m) (kN.m) (kN.m?)

P3 1 0.000 0.0741 0.000 0.000
2 1371.755 0.0681 93.373 6.356

3 0.000 0.0604 0.000 0.000

4 2021.250 0.0404 81.755 3.307

5 0.000 0.0221 0.000 0.000

6 3894.275 0.0171 66.495 1.135

7 0.000 0.0121 0.000 0.000

P4 1 0.000 0.0555 0.000 0.000
2 1371.755 0.0510 69.999 3.572

3 0.000 0.0454 0.000 0.000

4 2021.250 0.0306 61.864 1.893

5 0.000 0.0169 0.000 0.000

6 3894.275 0.0132 51.365 0.678

7 0.000 0.0095 0.000 0.000

A2 1 0.000 0.0134 0.000 0.000
2 3425.100 0.0105 35.907 0.376

3 0.000 0.0076 0.000 0.000

4 4998.000 0.0065 32.727 0.214

5 0.000 0.0055 0.000 0.000

8347.142 2155.035

FORUMS8




- 48 -

2 I 1
Khgo Khg Khco Cs M a Khci Khe
5 | B e B e E e B B e Tt
Al 11 0.3500 0.35 0.8500 | ------ |  —————— | —————-
P1 11 0.3500 0.35 0.8500 0.634 1.744 0.54 0.54
p2 11 0.3500 0.35 0.8500 0.634 1.744 0.54 -
P3 11 0.3500 0.35 0.8500 0.634 1.744 0.54
P4 11 0.3500 0.35 0.8500 0.634 1.744 0.54
A2 11 0.3500 0.35 0.8500 | ------ | —————— | —m———-
Khgo ( D)
Khg ( D) Khg = Cz Khgo
Khco ( D)
1
Cs HEEW R ISR EL Cs = ——
v2+ na—l1
M a
Khci Khei = Cs Cz Khco
(Cz Khco 0.3 Khei = 0.3 Cs )
(Khci 0.4 Cz Khci = 0.4 Cz )
Khc
( )
Cz =1.00
=2.01{6 = 1.040 (s)
T WiXUi* 2324. 956
§ = ——— = = 0.268 (m)
2 WiXUi 8676. 267
Wi x Ui Wi x Ui’
Wi (kN) Ui (m) (kN.m) (kN.m%)
5 1 1 1540.000 0.0163 25.128 0.410
(Bridge 1) 2 3080.000 0.1363 419.653 57.178
3 3080.000 0.2378 732.427 174.172
4 3080.000 0.3132 964.712 302.165
5 3080.000 0.3574 1100.825 393.447
6 3080.000 0.3731 1149.148 428.747
7 3080.000 0.3574 1100.825 393.447
8 3080.000 0.3132 964.712 302.165
9 3080.000 0.2378 732.427 174.172
10 3080.000 0.1363 419.653 57.178
11 1540.000 0.0163 25.128 0.410
Al 1 0.000 0.0135 0.000 0.000
2 3425.100 0.0106 36.209 0.383
3 0.000 0.0077 0.000 0.000
4 4998.000 0.0066 32.972 0.218
5 0.000 0.0055 0.000 0.000
P1 1 0.000 0.0629 0.000 0.000
2 1371.755 0.0572 78.488 4.491
3 0.000 0.0500 0.000 0.000
4 2021.250 0.0319 64.402 2.052
5 0.000 0.0168 0.000 0.000
6 3894.275 0.0131 51.073 0.670
7 0.000 0.0094 0.000 0.000

FORUMS8




- 49 -

Wi x Ui Wi x Ui’
Wi (kN) Ui (m) (kN.m) (kN.m?)

p2 1 0.000 0.0850 0.000 0.000
2 1371.755 0.0772 105.863 8.170

3 0.000 0.0673 0.000 0.000

4 2021.250 0.0423 85.571 3.623

5 0.000 0.0220 0.000 0.000

6 3894.275 0.0170 66.236 1.127

7 0.000 0.0121 0.000 0.000

P3 1 0.000 0.0850 0.000 0.000
2 1371.755 0.0772 105.863 8.170

3 0.000 0.0673 0.000 0.000

4 2021.250 0.0423 85.571 3.623

5 0.000 0.0220 0.000 0.000

6 3894.275 0.0170 66.236 1.127

7 0.000 0.0121 0.000 0.000

P4 1 0.000 0.0629 0.000 0.000
2 1371.755 0.0572 78.488 4.491

3 0.000 0.0500 0.000 0.000

4 2021.250 0.0319 64.402 2.052

5 0.000 0.0168 0.000 0.000

6 3894.275 0.0131 51.073 0.670

7 0.000 0.0094 0.000 0.000

A2 1 0.000 0.0135 0.000 0.000
2 3425.100 0.0106 36.209 0.383

3 0.000 0.0077 0.000 0.000

4 4998.000 0.0066 32.972 0.218

5 0.000 0.0055 0.000 0.000

8676.267 2324 .956

FORUMS8




- B0 -

2 i 1
Khgo Khg Khco Cs M a Khci Khe
5 | B e B e E e B B e Tt
Al 11 0.7000 0.70 1.7500 | ---——-| | -
P1 11 0.7000 0.70 1.7500 0.401 3.613 0.70 0.70
p2 11 0.7000 0.70 1.7500 0.401 3.613 0.70 -
P3 11 0.7000 0.70 1.7500 0.401 3.613 0.70
P4 11 0.7000 0.70 1.7500 0.401 3.613 0.70
A2 11 0.7000 0.70 1.7500 | ---—--| - | -
Khgo ( I
Khg ( ) Khg = Cz Khgo
Khco ( I
1
Cs D MEEM R IESR L Cs = ——
v2+ na—l1
M a
Khci Khei = Cs Cz Khco
(Cz Khco 0.6 Khci = 0.6 Cs )
(Khci 0.4 Cz Khci = 0.4 Cz )
Khc
( )
Cz =1.00
=2.01{6 = 1.040 (s)
T WiXUi* 2324. 956
§ = ——— = = 0.268 (m)
2 WiXUi 8676. 267
Wi x Ui Wi x Ui’
Wi (kN) Ui (m) (kN.m) (kN.m%)
5 1 1 1540.000 0.0163 25.128 0.410
(Bridge 1) 2 3080.000 0.1363 419.653 57.178
3 3080.000 0.2378 732.427 174.172
4 3080.000 0.3132 964.712 302.165
5 3080.000 0.3574 1100.825 393.447
6 3080.000 0.3731 1149.148 428.747
7 3080.000 0.3574 1100.825 393.447
8 3080.000 0.3132 964.712 302.165
9 3080.000 0.2378 732.427 174.172
10 3080.000 0.1363 419.653 57.178
11 1540.000 0.0163 25.128 0.410
Al 1 0.000 0.0135 0.000 0.000
2 3425.100 0.0106 36.209 0.383
3 0.000 0.0077 0.000 0.000
4 4998.000 0.0066 32.972 0.218
5 0.000 0.0055 0.000 0.000
P1 1 0.000 0.0629 0.000 0.000
2 1371.755 0.0572 78.488 4.491
3 0.000 0.0500 0.000 0.000
4 2021.250 0.0319 64.402 2.052
5 0.000 0.0168 0.000 0.000
6 3894.275 0.0131 51.073 0.670
7 0.000 0.0094 0.000 0.000

FORUMS8




- 51 -

Wi x Ui Wi x Ui’
Wi (kN) Ui (m) (kN.m) (kN.m?)

p2 1 0.000 0.0850 0.000 0.000
2 1371.755 0.0772 105.863 8.170

3 0.000 0.0673 0.000 0.000

4 2021.250 0.0423 85.571 3.623

5 0.000 0.0220 0.000 0.000

6 3894.275 0.0170 66.236 1.127

7 0.000 0.0121 0.000 0.000

P3 1 0.000 0.0850 0.000 0.000
2 1371.755 0.0772 105.863 8.170

3 0.000 0.0673 0.000 0.000

4 2021.250 0.0423 85.571 3.623

5 0.000 0.0220 0.000 0.000

6 3894.275 0.0170 66.236 1.127

7 0.000 0.0121 0.000 0.000

P4 1 0.000 0.0629 0.000 0.000
2 1371.755 0.0572 78.488 4.491

3 0.000 0.0500 0.000 0.000

4 2021.250 0.0319 64.402 2.052

5 0.000 0.0168 0.000 0.000

6 3894.275 0.0131 51.073 0.670

7 0.000 0.0094 0.000 0.000

A2 1 0.000 0.0135 0.000 0.000
2 3425.100 0.0106 36.209 0.383

3 0.000 0.0077 0.000 0.000

4 4998.000 0.0066 32.972 0.218

5 0.000 0.0055 0.000 0.000

8676.267 2324 .956

FORUMS8




- B2 -

1.4.3

Al
Cz 1.00
B
]
(kN) 2450.000
m) 2.500
1
) C )
T (s) 1.136 1.021
Kho 0.2500 0.2500
Khi 0.25 0.25
Kh 0.25 0.25
Wu kN) 2791.760 5285.495
H (kN) 697.940 1321.374
Khgo 0.2000
Khg 0.20
Khi = Cz Kho
(Khi 0.1 0.1
Kh
Khg = Cz Khgo
H =F Kh=2791.760 0.25 = 697.940 (kN)
Wu = H / Kh = 2791.760(kN)
F (kN)
H =F Kh =5285.495 0.25 = 1321.374 (kN)
Wu = H / Kh = 5285.495(kN)
F (kN)

FORUMS8



- B3 -

2 I
1( C )
T (s) 1.177 1.040
ma ] mmmmmmmmmmee e | e
cs | e=emeemmemmeeee | oo
Khco 0.8500 0.8500
Khet ] e
Khc 0.45 0.54
Wu (kN) 3008.107 5365.734
H (kN) 1353.648 2897.496
Khgo 0.3500
Khg 0.35
Khci = Cs Cz Khco
(Cz Khco 0.3 Khci = 0.3 Cs )
(Khci 0.4 Cz Khei = 0.4 Cz )
Khc
Cs = !
2+« pna—l1
Khg = Cz Khgo
H =F Khc = 3008.107 0.45 = 1353.648 (kN)
Wu = H / Khc = 3008.107(kN)
F (kN)
H =F Khc = 5365.734 0.54 = 2897.496 (kN)
Wu = H / Khc = 5365.734(kN)
F (kN)
2 11
) C )
T ©) 1.177 1.040
pa ] mmmmmmm e e
cs | mmmemmmmeemeeee | e
Khco 1.7500 1.7500
Khei ] mmmmmmmmmmeee | e
Khe 0.57 0.70
Wu (kN) 3008.107 5365.734
H kN) 1714.621 3756.014
Khgo 0.7000
Khg 0.70

FORUMS8



- 54 -

Khci = Cs Cz Khco

(Cz Khco 0.6 Khci = 0.6 Cs )
(Khci 0.4 Cz Khei = 0.4 Cz )
Khc
R
2+ pna—1

Khg = Cz Khgo

H =F Khc = 3008.107 0.57 = 1714.621 (kN)

Wu = H / Khc = 3008.107(kN)

F (kN)

H =F Khc =5365.734 0.70 = 3756.014 (kN)

Wu = H / Khc = 5365.734(kN)
F (kN)

FORUMS8



- B5 -

P1
Cz 1.00
B
]
(kN) 6970.000
(m) 2.500
1
C ) C )
T (s) 1.136 1.021
Kho 0.2500 0.2500
Khi 0.25 0.25
Kh 0.25 0.25
Wu (kN) 6304.533 3944556
H (kN) 1576.133 986.139
Khgo 0.2000
Khg 0.20
Khi = Cz Kho
(Khi 0.1 0.1 )
Kh
Khg = Cz Khgo
H = F Kh = 6304.533 0.25 = 1576.133 (kN)
Wu = H / Kh = 6304.533(kN)
F (kN)
H =F Kh =3944.556 0.25 = 986.139 (kN)
Wu = H / Kh = 3944.556(kN)
F (kN)

FORUMS8



- 56 -

2 I
) C )
T (s) 1.177 1.040
ua 2.2920 1.7437
Cs 0.5282 0.6341
Khco 0.8500 0.8500
Khei 0.45 0.54
Khc 0.45 0.54
Wu (kN) 6196.026 3901.992
H (kN) 2788.212 2107.075
Khgo 0.3500
Khg 0.35
Khci = Cs Cz Khco
(Cz Khco 0.3 Khci = 0.3 Cs
(Khci 0.4 Cz Khei = 0.4 Cz
Khc
Cs = !
2+ pna—1
Khg = Cz Khgo
H =F Khc = 6196.026 0.45 = 2788.212 (kN)
Wu = H / Khc = 6196.026(kN)
F (kN)
H =F Khc = 3901.992 0.54 = 2107.075 (kN)
Wu = H / Khc = 3901.992(kN)
F (kN)
2 11
) C )
T ©) 1.177 1.040
M a 5.2356 3.6129
Cs 0.3249 0.4008
Khco 1.7500 1.7500
Khci 0.57 0.70
Khe 0.57 0.70
Wu (kN) 6196.026 3901.992
H kN) 3531.735 2731.39%4
Khgo 0.7000
Khg 0.70

FORUMS8



- 57 -

Khci = Cs Cz Khco

(Cz Khco 0.6 Khci = 0.6 Cs )
(Khci 0.4 Cz Khei = 0.4 Cz )
Khc
R
2+ pna—1

Khg = Cz Khgo

H =F Khc = 6196.026 0.57 = 3531.735 (kN)

Wu = H / Khc = 6196.026(kN)

F (kN)

H =F Khc =3901.992 0.70 = 2731.394 (kN)

Wu = H / Khc = 3901.992(kN)
F (kN)

FORUMS8



- B8 -

P2
Cz 1.00
B
]
(kN) 6970.000
(m) 2.500
1
C ) C )
T (s) 1.136 1.021
Kho 0.2500 0.2500
Khi 0.25 0.25
Kh 0.25 0.25
Wu (kN) 6303.707 6169.949
H (kN) 1575.927 1542 .487
Khgo 0.2000
Khg 0.20
Khi = Cz Kho
(Khi 0.1 0.1 )
Kh
Khg = Cz Khgo
H =F Kh =6303.707 0.25 = 1575.927 (kN)
Wu = H / Kh = 6303.707(kN)
F (kN)
H =F Kh =6169.949 0.25 = 1542.487 (kN)
Wu = H / Kh = 6169.949(kN)
F (kN)

FORUMS8



- 59 -

2 I
) C )
T (s) 1.177 1.040
ua 2.2920 1.7437
Cs 0.5282 0.6341
Khco 0.8500 0.8500
Khei 0.45 0.54
Khc 0.45 0.54
Wu (kN) 6195.867 6132.274
H (kN) 2788.140 3311.428
Khgo 0.3500
Khg 0.35
Khci = Cs Cz Khco
(Cz Khco 0.3 Khci = 0.3 Cs
(Khci 0.4 Cz Khei = 0.4 Cz
Khc
Cs = !
2+ pna—1
Khg = Cz Khgo
H =F Khc = 6195.867 0.45 = 2788.140 (kN)
Wu = H / Khc = 6195.867(kN)
F (kN)
H =F Khc = 6132.274 0.54 = 3311.428 (kN)
Wu = H / Khc = 6132.274(kN)
F (kN)
2 11
) C )
T ©) 1.177 1.040
M a 5.2356 3.6129
Cs 0.3249 0.4008
Khco 1.7500 1.7500
Khci 0.57 0.70
Khe 0.57 0.70
Wu (kN) 6195.867 6132.274
H kN) 3531.644 4292 .592
Khgo 0.7000
Khg 0.70

FORUMS8



- 60 -

Khci = Cs Cz Khco

(Cz Khco 0.6 Khci = 0.6 Cs )
(Khci 0.4 Cz Khei = 0.4 Cz )
Khc
R
2+ pna—1

Khg = Cz Khgo

H =F Khc = 6195.867 0.57 = 3531.644 (kN)

Wu = H / Khc = 6195.867(kN)

F (kN)

H =F Khc = 6132.274 0.70 = 4292.592 (kN)

Wu = H / Khc = 6132.274(kN)
F (kN)

FORUMS8



- 61 -

P3
Cz 1.00
B
]
(kN) 6970.000
(m) 2.500
1
C ) C )
T (s) 1.136 1.021
Kho 0.2500 0.2500
Khi 0.25 0.25
Kh 0.25 0.25
Wu (kN) 6303.707 6169.949
H (kN) 1575.927 1542 .487
Khgo 0.2000
Khg 0.20
Khi = Cz Kho
(Khi 0.1 0.1 )
Kh
Khg = Cz Khgo
H =F Kh =6303.707 0.25 = 1575.927 (kN)
Wu = H / Kh = 6303.707(kN)
F (kN)
H =F Kh =6169.949 0.25 = 1542.487 (kN)
Wu = H / Kh = 6169.949(kN)
F (kN)

FORUMS8



- 62 -

2 I
) C )
T (s) 1.177 1.040
ua 2.2920 1.7437
Cs 0.5282 0.6341
Khco 0.8500 0.8500
Khei 0.45 0.54
Khc 0.45 0.54
Wu (kN) 6195.867 6132.274
H (kN) 2788.140 3311.428
Khgo 0.3500
Khg 0.35
Khci = Cs Cz Khco
(Cz Khco 0.3 Khci = 0.3 Cs
(Khci 0.4 Cz Khei = 0.4 Cz
Khc
Cs = !
2+ pna—1
Khg = Cz Khgo
H =F Khc = 6195.867 0.45 = 2788.140 (kN)
Wu = H / Khc = 6195.867(kN)
F (kN)
H =F Khc = 6132.274 0.54 = 3311.428 (kN)
Wu = H / Khc = 6132.274(kN)
F (kN)
2 11
) C )
T ©) 1.177 1.040
M a 5.2356 3.6129
Cs 0.3249 0.4008
Khco 1.7500 1.7500
Khci 0.57 0.70
Khe 0.57 0.70
Wu (kN) 6195.867 6132.274
H kN) 3531.644 4292 .592
Khgo 0.7000
Khg 0.70

FORUMS8



- 63 -

Khci = Cs Cz Khco

(Cz Khco 0.6 Khci = 0.6 Cs )
(Khci 0.4 Cz Khei = 0.4 Cz )
Khc
R
2+ pna—1

Khg = Cz Khgo

H =F Khc = 6195.867 0.57 = 3531.644 (kN)

Wu = H / Khc = 6195.867(kN)

F (kN)

H =F Khc = 6132.274 0.70 = 4292.592 (kN)

Wu = H / Khc = 6132.274(kN)
F (kN)

FORUMS8



- 64 -

P4
Cz 1.00
B
]
(kN) 6970.000
(m) 2.500
1
C ) C )
T (s) 1.136 1.021
Kho 0.2500 0.2500
Khi 0.25 0.25
Kh 0.25 0.25
Wu (kN) 6304.533 3944556
H (kN) 1576.133 986.139
Khgo 0.2000
Khg 0.20
Khi = Cz Kho
(Khi 0.1 0.1 )
Kh
Khg = Cz Khgo
H = F Kh = 6304.533 0.25 = 1576.133 (kN)
Wu = H / Kh = 6304.533(kN)
F (kN)
H =F Kh =3944.556 0.25 = 986.139 (kN)
Wu = H / Kh = 3944.556(kN)
F (kN)

FORUMS8
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2 I
) C )
T (s) 1.177 1.040
ua 2.2920 1.7437
Cs 0.5282 0.6341
Khco 0.8500 0.8500
Khei 0.45 0.54
Khc 0.45 0.54
Wu (kN) 6196.026 3901.992
H (kN) 2788.212 2107.075
Khgo 0.3500
Khg 0.35
Khci = Cs Cz Khco
(Cz Khco 0.3 Khci = 0.3 Cs
(Khci 0.4 Cz Khei = 0.4 Cz
Khc
Cs = !
2+ pna—1
Khg = Cz Khgo
H =F Khc = 6196.026 0.45 = 2788.212 (kN)
Wu = H / Khc = 6196.026(kN)
F (kN)
H =F Khc = 3901.992 0.54 = 2107.075 (kN)
Wu = H / Khc = 3901.992(kN)
F (kN)
2 11
) C )
T ©) 1.177 1.040
M a 5.2356 3.6129
Cs 0.3249 0.4008
Khco 1.7500 1.7500
Khci 0.57 0.70
Khe 0.57 0.70
Wu (kN) 6196.026 3901.992
H kN) 3531.735 2731.39%4
Khgo 0.7000
Khg 0.70

FORUMS8
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Khci = Cs Cz Khco

(Cz Khco 0.6 Khci = 0.6 Cs )
(Khci 0.4 Cz Khei = 0.4 Cz )
Khc
R
2+ pna—1

Khg = Cz Khgo

H =F Khc = 6196.026 0.57 = 3531.735 (kN)

Wu = H / Khc = 6196.026(kN)

F (kN)

H =F Khc =3901.992 0.70 = 2731.394 (kN)

Wu = H / Khc = 3901.992(kN)
F (kN)

FORUMS8
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A2
Cz 1.00
B
]
(kN) 2450.000
(m) 2.500
1
C ) C )
T (s) 1.136 1.021
Kho 0.2500 0.2500
Khi 0.25 0.25
Kh 0.25 0.25
Wu (kN) 2791.760 5285.495
H (kN) 697.940 1321.374
Khgo 0.2000
Khg 0.20
Khi = Cz Kho
(Khi 0.1 0.1 )
Kh
Khg = Cz Khgo
H = F Kh =2791.760 0.25 = 697.940 (kN)
Wu = H / Kh = 2791.760(kN)
F (kN)
H =F Kh =5285.495 0.25 = 1321.374 (kN)
Wu = H / Kh = 5285.495(kN)
F (kN)

FORUMS8
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2 I
1( C )
T (s) 1.177 1.040
ma ] mmmmmmmmmmee e | e
cs | e=emeemmemmeeee | oo
Khco 0.8500 0.8500
Khet ] e
Khc 0.45 0.54
Wu (kN) 3008.107 5365.734
H (kN) 1353.648 2897.496
Khgo 0.3500
Khg 0.35
Khci = Cs Cz Khco
(Cz Khco 0.3 Khci = 0.3 Cs )
(Khci 0.4 Cz Khei = 0.4 Cz )
Khc
Cs = !
2+« pna—l1
Khg = Cz Khgo
H =F Khc = 3008.107 0.45 = 1353.648 (kN)
Wu = H / Khc = 3008.107(kN)
F (kN)
H =F Khc = 5365.734 0.54 = 2897.496 (kN)
Wu = H / Khc = 5365.734(kN)
F (kN)
2 11
) C )
T ©) 1.177 1.040
pa ] mmmmmmm e e
cs | mmmemmmmeemeeee | e
Khco 1.7500 1.7500
Khei ] mmmmmmmmmmeee | e
Khe 0.57 0.70
Wu (kN) 3008.107 5365.734
H kN) 1714.621 3756.014
Khgo 0.7000
Khg 0.70

FORUMS8
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Khci = Cs Cz Khco

(Cz Khco 0.6 Khci = 0.6 Cs )
(Khci 0.4 Cz Khei = 0.4 Cz )
Khc
R
2+ pna—1

Khg = Cz Khgo

H =F Khc = 3008.107 0.57 = 1714.621 (kN)

Wu = H / Khc = 3008.107(kN)

F (kN)

H =F Khc =5365.734 0.70 = 3756.014 (kN)

Wu = H / Khc = 5365.734(kN)
F (kN)

FORUMS8
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1.4.4

1
(kN/m) (kN) (m)
1| 8.360000E+003 | (1) 0.25 x 2791.760 =  697.940 0.0835 | ———---
2| 2.408000E+004 | (1) 0.25 x 6304.533 = 1576.133 0.0655 | ——--—-
5 | 3| 2.408000E+004 | (1) 0.25 x 6303.707 = 1575.927 0.0654 |  ———mm-
(Bridge 1) 4 | 2.408000E+004 | (1) 0.25 x 6303.707 = 1575.927 0.0654 | ——-m—-
5| 2.408000E+004 | (1) 0.25 x 6304.533 = 1576.133 0.0655 |  ——-——-
6 | 8.360000E+003 | (1) 0.25 x 2791.760 =  697.940 0.0835 | ———---
1
(kN/m) (kN) (m
5 U U
2| 2.408000E+004 | (1) 0.25 x 3944.556 =  986.139 0.0410 | -—----
5 I 3| 2.408000E+004 | (1) 0.25 x 6169.949 = 1542.487 0.0641 | ——-——-
(Bridge 1) 4 | 2.408000E+004 | (1) 0.25 x 6169.949 = 1542.487 0.0641 | ——-——-
5| 2.408000E+004 | (1) 0.25 x 3944.556 =  986.139 0.0410 |  ——-——-
e 0 mmmmmeem | mmmeee | s
(DKh  Wu
Kh
Wu (kN)
2 |
(KN/m) (kN) (m)
1| 8.360000E+003 | (4) 0.40 x 3008.107 = 1203.243 0.1439 |  ——-m—-
2| 2.408000E+004 | (2) 1.2 x 3826.405 = 4591.686 0.1907 (100.0%)
5 | 3| 2.408000E+004 | (2) 1.2 x 3826.384 = 4591.661 0.1907 (100.0%)
(Bridge 1) 4 | 2.408000E+004 | (2) 1.2 x 3826.384 = 4591.661 0.1907 (100.0%)
5| 2.408000E+004 | (2) 1.2 x 3826.405 = 4591.686 0.1907 (100.0%)
6 | 8.360000E+003 | (4) 0.40 x 3008.107 = 1203.243 0.1439 |  —————C
2 |
(kN/m) (kN) (m)
1 ____________________
2| 2.408000E+004 | (1) 0.00 x 3901.992 = 0.000 0.0000 |  ---——-
5 | 3| 2.408000E+004 | (1) 0.00 x 6132.274 = 0.000 0.0000 |  ------
(Bridge 1) 4| 2.408000E+004 | (1) 0.00 x 6132.274 = 0.000 0.0000 |  ——-——-
5| 2.408000E+004 | (1) 0.00 x 3901.992 = 0.000 0.0000 | ------
e 0 mmmmmeem | mmmeem | e
2 1
(kN/m) (kN) (m)
1| 8.360000E+003 | (4) 0.78 x 3008.107 = 2346.323 0.2807 | = ———---
2| 2.408000E+004 | (2) 1.2 x 3826.571 = 4591.885 0.1907 (100.0%)
5 I 3| 2.408000E+004 | (2) 1.2 x 3826.550 = 4591.860 0.1907 (100..0%)
(Bridge 1) 4 | 2.408000E+004 | (2) 1.2 x 3826.550 = 4591.860 0.1907 (100.0%)
5| 2.408000E+004 | (2) 1.2 x 3826.571 = 4591.885 0.1907 (100.0%)
6 | 8.360000E+003 | (4) 0.78 x 3008.107 = 2346.323 0.2807 | = -——---
2 1
(KN/m) (kN) (m)
X 5 O U
2| 2.408000E+004 | (1) 0.00 x 3901.992 = 0.000 0.0000 | ——-——-
5 | 3| 2.408000E+004 | (1) 0.00 x 6132.274 = 0.000 0.0000 | ——-——-
(Bridge 1) 4 | 2.408000E+004 | (1) 0.00 x 6132.274 = 0.000 0.0000 | ------
5| 2.408000E+004 | (1) 0.00 x 3901.992 = 0.000 0.0000 | ---——-
s 1  mmmmmmen | mmmeee | cmmaaa

FORUMS8
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(DKhc Wu (Khc
(2)Cm Pu (Pu
(3)Cm Pu (Pu
(HKhc Wu (Khc

Wu
Cm

= 3.000

1.2)

= 3.000
(kN)

(kN))
(kN))

FORUMS8
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2
(@D P o
)
®
D
2)
4)
K
1
K = -
1 1 ho
— + — +
Kp KFu KFr
P p
p 5p
KF d
u =
0o
M
KFr =
0o
M = P+ ho(kN. m)
0 =06p+t 6o+ Bo- ho
K (kN/m)
Kp (kN/m)
KFu (kN/m)
KFr (kN.m/rad)
P (kN)
dp (m
o0 (m)
0o (rad)
o (m)
0 : (m)
P=1000(kN)
2.1
a EO
KFu(kN/m) KFr(kN.m/rad) Kp(kN/m) K (KN/m)
P1 3.649997E+005 | 2.396600E+007 | 3.177498E+005 | 8.266291E+004
P2 3.649997E+005 | 2.396600E+007 | 3.177498E+005 | 8.266291E+004
P3 3.649997E+005 | 2.396600E+007 | 3.177498E+005 | 8.266291E+004
P4 3.649997E+005 | 2.396600E+007 | 3.177498E+005 | 8.266291E+004
Al 00 00 4.251758E+006 | 4.251758E+006
A2 00 00 4.251758E+006 | 4.251758E+006

FORUMS8
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e} op 00 0o 0
(m (m (mm) (mm) (mm) (nrad) (m
P1 12.200 0.000 12.097 3.147 2.740 0.509 12.200
P2 12.200 0.000 12.097 3.147 2.740 0.509 12.200
P3 12.200 0.000 12.097 3.147 2.740 0.509 12.200
P4 12.200 0.000 12.097 3.147 2.740 0.509 12.200
Al 7.100 0.000 0.235 0.235 0.000 0.000 7.100
A2 7.100 0.000 0.235 0.235 0.000 0.000 7.100
P=1000(kN)
KFu(kN/m) KFr(kN.m/rad) Kp(kN/m) K (kN/m)
P1 3.649997E+005 | 2.396600E+007 | 1.641270E+006 | 1.046082E+005
P2 3.649997E+005 | 2.396600E+007 | 1.641270E+006 | 1.046082E+005
P3 3.649997E+005 | 2.396600E+007 | 1.641270E+006 | 1.046082E+005
P4 3.649997E+005 | 2.396600E+007 | 1.641270E+006 | 1.046082E+005
Al 00 00 1.530633E+008 | 1.530633E+008
A2 00 00 1.530633E+008 | 1.530633E+008
0 op o0 0o 0
(m (m (mm) (mm) (mm) (mrad) (m)
P1 12.200 0.000 9.559 0.609 2.740 0.509 12.200
P2 12.200 0.000 9.559 0.609 2.740 0.509 12.200
P3 12.200 0.000 9.559 0.609 2.740 0.509 12.200
P4 12.200 0.000 9.559 0.609 2.740 0.509 12.200
Al 7.100 0.000 0.007 0.007 0.000 0.000 7.100
A2 7.100 0.000 0.007 0.007 0.000 0.000 7.100
P=1000(kN)
2.2
ED
KFu(kN/m) KFr(kN.m/rad) Kp(kN/m) K (kN/m)
P1 9.469845E+005 | 2.828061E+007 | 3.177498E+005 | 1.056403E+005
P2 9.469845E+005 | 2.828061E+007 | 3.177498E+005 | 1.056403E+005
P3 9.469845E+005 | 2.828061E+007 | 3.177498E+005 | 1.056403E+005
P4 9.469845E+005 | 2.828061E+007 | 3.177498E+005 | 1.056403E+005
Al 1.932188E+006 | 4.672758E+007 | 4.251758E+006 | 5.459853E+005
A2 1.932188E+006 | 4.672758E+007 | 4.251758E+006 | 5.459853E+005
o op o0 0o 0
(m) (m) (mm) (mm) (mm) (nrad) (m
P1 12.200 0.000 9.466 3.147 1.056 0.431 12.200
P2 12.200 0.000 9.466 3.147 1.056 0.431 12.200
P3 12.200 0.000 9.466 3.147 1.056 0.431 12.200
P4 12.200 0.000 9.466 3.147 1.056 0.431 12.200
Al 7.100 0.000 1.832 0.235 0.518 0.152 7.100
A2 7.100 0.000 1.832 0.235 0.518 0.152 7.100

P=1000(kN)

FORUMS8
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KFu(kN/m) KFr(kN.m/rad) Kp(kN/m) K (kN/m)
P1 9.469845E+005 | 2.828061E+007 | 1.641270E+006 | 1.443368E+005
P2 9.469845E+005 | 2.828061E+007 | 1.641270E+006 | 1.443368E+005
P3 9.469845E+005 | 2.828061E+007 | 1.641270E+006 | 1.443368E+005
P4 9.469845E+005 | 2.828061E+007 | 1.641270E+006 | 1.443368E+005
Al 2.306930E+006 | 7.204672E+007 | 1.530633E+008 | 8.774280E+005
A2 2.306930E+006 | 7.204672E+007 | 1.530633E+008 | 8.774280E+005

o op do0 0o 0

(m) (m) (mm) (mm) (mm) (mrad) (m)
P1 12.200 0.000 6.928 0.609 1.056 0.431 12.200
P2 12.200 0.000 6.928 0.609 1.056 0.431 12.200
P3 12.200 0.000 6.928 0.609 1.056 0.431 12.200
P4 12.200 0.000 6.928 0.609 1.056 0.431 12.200
Al 7.100 0.000 1.140 0.007 0.433 0.099 7.100
A2 7.100 0.000 1.140 0.007 0.433 0.099 7.100

P=1000(kN)
2.3
ED

KFu(kN/m) KFr(kN.m/rad) Kp(kN/m) K (kN/m)
P1 9.469845E+005 | 2.828061E+007 | 1.373052E+005 | 7.351861E+004
P2 9.469845E+005 | 2.828061E+007 | 1.373052E+005 | 7.351861E+004
P3 9.469845E+005 | 2.828061E+007 | 1.373052E+005 | 7.351861E+004
P4 9.469845E+005 | 2.828061E+007 | 1.373052E+005 | 7.351861E+004
Al 1.932188E+006 | 4.672758E+007 | 4.251758E+006 | 5.459853E+005
A2 1.932188E+006 | 4.672758E+007 | 4.251758E+006 | 5.459853E+005

o op do0 0o 0

(m) (m) (mm) (mm) (mm) (mrad) (m)
P1 12.200 0.000 13.602 7.283 1.056 0.431 12.200
P2 12.200 0.000 13.602 7.283 1.056 0.431 12.200
P3 12.200 0.000 13.602 7.283 1.056 0.431 12.200
P4 12.200 0.000 13.602 7.283 1.056 0.431 12.200
Al 7.100 0.000 1.832 0.235 0.518 0.152 7.100
A2 7.100 0.000 1.832 0.235 0.518 0.152 7.100

P=1000(kN)

KFu(kN/m) KFr(kN.m/rad) Kp(kN/m) K (kN/m)
P1 9.469845E+005 | 2.828061E+007 | 5.730709E+005 | 1.240089E+005
P2 9.469845E+005 | 2.828061E+007 | 5.730709E+005 | 1.240089E+005
P3 9.469845E+005 | 2.828061E+007 | 5.730709E+005 | 1.240089E+005
P4 9.469845E+005 | 2.828061E+007 | 5.730709E+005 | 1.240089E+005
Al 2.306930E+006 | 7.204672E+007 | 1.530633E+008 | 8.774280E+005
A2 2.306930E+006 | 7.204672E+007 | 1.530633E+008 | 8.774280E+005

FORUMS8
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e} op 00 0o 0

@m (m (mm) (mm) (mm) (nrad) (m
P1 12.200 0.000 8.064 1.745 1.056 0.431 12.200
P2 12.200 0.000 8.064 1.745 1.056 0.431 12.200
P3 12.200 0.000 8.064 1.745 1.056 0.431 12.200
P4 12.200 0.000 8.064 1.745 1.056 0.431 12.200
Al 7.100 0.000 1.140 0.007 0.433 0.099 7.100
A2 7.100 0.000 1.140 0.007 0.433 0.099 7.100

P=1000(kN)

FORUMS8
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